NAIR Assistant Engineer AEN

Topic:- AEN_PA_NAIRAUG4

R Velocity of flow is proportional to the first power of hydraulic gradient in

Darcy's law. This law is applicable to]

sl & FAER vaE & d9r gEsifos Affve i ugelr afFd &
AT BT 8 | T Fleled 37 TN 9L BT &

[Question ID = 404][Question Description = Q01_AEN_PA_NAIRAUG4]
1 Transitional flow in porous media /
uRyg #ifZar 7 afaadad vaE
[Option ID = 1613]

Laminar flow in porous media /

IRy #HiEw & AFER vaEE

[Option ID = 1614]

Laminar as well as turbulent flow in porous media /
3

| O AR # AR & e EE et
[Option ID = 1615]

Turbulent flow in porous media /
4

URE HfEZAr # Rgele vaw
[Option ID = 1616]
Correct Answer :-

Laminar flow in porous media /

IRy HIETr # JIfHAR u9®

[Option ID = 1614]



2 A reinforcing steel bar, partially embedded in concrete, is subjected to a

tensile force “P”. The figure that appropriately represents the distribution
of the magnitude of bond stress (represented as hatched region), along
the embedded length of the bar, is:

HfAF FT F dshic H TFasS Teh Ualold Tl 9 9 TH deF o "P"
AT AT F| 9% T A 9% Fr veEE d98 & A1y 908 B (398
8 & §7 # gefar @) F Aawer & 3 w7 g 8, ' ©

[Question ID = 405][Question Description = Q02_AEN_PA_NAIRAUG4]
|

y T

jinEEERNg] " P
[Option ID = 1617]
|
2. m T > p
[Option ID = 1618]
|
3 > P

[Option ID = 1619]

4'<> I | |

E

[Option ID = 1620]

Correct Answer :-

'{\,» I | | > P

[Option ID = 1620]



VA body floating in a liquid is in a stable state of equilibrium if its:

fordl e were & R g3 A [z Ao R e # g g
q7e:
[Question ID = 406][Question Description = Q03_AEN_PA_NAIRAUG4]

Metacentre lies above its centre of gravity /
1

| frerter su TEcATHYT Fg & I T ¢
[Option ID = 1621]

Metacentre lies below its centre of gravity /
2.

HETHEY SHF Tocashyul $g & oY [0ud ¢
[Option ID = 1622]

; Metacentre coincides with its centre of gravity /

HETHET 3TF Tcardyol Hg W o 799 ©
[Option ID = 1623]
Centre of gravity is below its centre of buoyancy /

| ST FT 4 S A R & A

[Option ID = 1624]
Correct Answer :-

Metacentre lies above its centre of gravity /
HeTHeT 3TSH ITATHYUT g F FW AT §

[Option ID = 1621]

In a soil investigation work at a site, Standard Penetration Test (SPT) was
conducted at every 1.5m interval up to 30 m depth. At 3 m depth, the
observed number of hammer blows for three successive 150 mm
penetrations were 8, 6 and 9, respectively. The SPT N-value at 3m depth,
is:

T Tee W Al o & FF #, 30 Hex fr I8ws g6 T3 1.5
HeT & FIA W ATF 99 GU&0T (TE.OEr) BRar amr an 3 #ieY
HI IES 9, 150 FAT & AR JdF dfecesd & fow gis & ar &
SET 912 HEAT FH: 8, 6 HIT 9 o 3 HeT IS W vE.HE. A-
o

[Question ID = 407][Question Description = Q04_AEN_PA_NAIRAUG4]




1. 17

[Option ID = 1625]
2. 1 5

[Option ID = 1626]
3. 14

[Option ID = 1627]
4. 23

[Option ID = 1628]
Correct Answer :-
15

[Option ID = 1626]

As per IS 456: 2000, the pH value of water for concrete mix shall NOT be
less than:

HSTH. 456: 2000 & 3TJER, Fehie AT & T ol &1 pH A
ST FH dgl T dIMeT :

[Question ID = 408][Question Description = Q05_AEN_PA_NAIRAUG4]

. 45

[Option ID = 1629]
2 60

[Option ID = 1630]
3. 5-5

[Option ID = 1631]
“ 50

[Option ID = 1632]

Correct Answer :-

* 6.0

[Option ID = 1630]

Which of the following is NOT a correct statement 7

feaAfoiea & T Fid AT TET FuT 78l & ?
[Question ID = 409][Question Description = Q06_AEN_PA_NAIRAUG4]

First reading from a level station is a ‘Fore Sight' /

| R aaw wuw ¥ e AT R wme e

[Option ID = 1633]



Planimeter is used for measuring ‘area’ /
2

Cold Y &7 399 'S9he A & fav &ar Jar &

[Option ID = 1634]
Contours of different elevations may intersect each other in case of an
overhanging cliff /

wehdl g5 Fam T Tl & e Famgar & Sy wH-gEe A FC
T §
[Option ID = 1635]

Basic principle of surveying is to work from whole to parts /
4

TdeTor T AT Ui quT AT T AR FT FET §
[Option ID = 1636]
Correct Answer :-

First reading from a level station is a ‘Fore Sight’ /

fordT ofaer T U ggel O 'O wse’ giar &

[Option ID = 1633]

7 As per the unified soil classification system (USCS), the type of soil
represented by MH is :

TehIhd HaT FENEIOT TOTe (F.OH.HLOH.) F AN, MH @R wefiia
fFedr & R ¢

[Question ID = 410][Question Description = Q07_AEN_PA_NAIRAUG4]
Silt of high plasticity with liquid limit more than 50% /

1.

50% @ 3ffae fofgas fiffac anr 3=9 carfecfadr #ir e

[Option ID = 1637]

Silt of low plasticity with liquid limit less than 50% /

2.

50% ® & foIfeas ffe ar &7 carfeet@d fir Tec

[Option ID = 1638]

Clay of high plasticity with liquid limit less than 50% /
3.
50% & Fu fofeas Mffe aer sog onfee@d fir #

[Option ID = 1639]

Clay of low plasticity with liquid limit more than 50% /
50% ® 3ifee ifdas AT ae Fa confee@d & 7o

[Option ID = 1640]

4.

Correct Answer :-



Silt of high plasticity with liquid limit more than 50% /
50% @ 3fas fifeas ffe anr 3=9 onfeef@dr $ir T

[Option ID = 1637]

8 A lake has a maximum de\pth of 60 m. The mean atmospheric pressure in
the lake region is 91 kPa and unit weight of lake water is 9790 N/m?®. The
absolute pressure (in kPa) at the maximum depth of the lake is :

T e N HAAFIA TS 60 HeX § | A &7 F 3fua agHsdT
garg 91 forell urEhe & 3R S & Uwell @1 $aE a=id 9790 Fggd Wia
ud Hiex § | e & 3Aeas s W QT gag (el 9ese )
g |
[Question ID = 411][Question Description = Q08_AEN_PA_NAIRAUG4]
- 597.50

[Option ID = 1641]
2 768.40

[Option ID = 1642]
3 §78.40

[Option ID = 1643]

4 63445

[Option ID = 1644]

Correct Answer :-

* 678.40

[Option ID = 1643]

A 12 hour unit hydrograph (of 1 cm excess rainfall) of a catchment is of a
triangular shape with a base width of 144 hour and a peak discharge of 23
m?/s . The area of catchment (in km?) is

T SRl & H 12 §9¢ & YiAc gssend (1 9 dAf0F an #)
i R F &, FEdr 3R 9= 144 9¢ 3R wf0san o=
23 g Hex ufa %= & | FaUEer 89 & 89w (@@ Fad @)
g

[Question ID = 412][Question Description = Q09_AEN_PA_NAIRAUG4]
. 828

[Option ID = 1645]




2. 596

[Option ID = 1646]

662
[Option ID = 1647]
4, 934

[Option ID = 1648]

Correct Answer :-

* 596

[Option ID = 1646]

An uncompacted heap of soil has a volume of 10000 m? and void ratio of
1. If the soil is compacted to a volume of 7500 m?, then the corresponding
void ratio of the compacted soil will be

st & v G Firtae B & & 39 10000 =7 Hiex 3k
arss agud 1 ¢1 e el & 7500 v HieX & HEad a@ diedac

forar mar 8, A siEtees el @ ass s grem |

[Question ID = 413][Question Description = Q10_AEN_PA_NAIRAUG4]
. 0.30

[Option ID = 1649]
2 0.50

[Option ID = 1650]
> 0.60

[Option ID = 1651]
“ 075

[Option ID = 1652]
Correct Answer :-

* 0.50

[Option ID = 1650]



11)  Read the following statements relating to flexure of reinforced concrete
beams:

I. In over-reinforced sections, the failure strain in concrete reaches earlier
than the yield strain in steel.

1l. In under-reinforced sections, steel reaches yielding at a load lower than
the load at which the concrete reaches failure strain.

1. Over-reinforced beams are recommended for use as compared to the
under-reinforced beams.

IV. In balanced sections, the concrete reaches failure strain earlier than
the yield strain in tensile steel.

Each of the above statements is either True or False. Which one of the
following combinations is correct:

SETorT Fohre A9 & FAFAL A WA (Ao rad 99 T2
|. ST TS fwor §, ST F ST w e § fivw w2 i e

T

Il .sf=< e o9 H, =9 99 A€ § F9 9% Ao gaT g e 9%
FPHTE IO TEF 7% TR 2 |

Il 3= 3RS @19 i TOAT § AT AR AT HORH F AT H
FLTHAT T AT 2

IV FFforT &erm &, 777 T # AioT 557 °F TE0 TS RO T2 7
g T 2

STERT ARl A @ g9® 47 O a9 41 F9d g HEieteg § ¥ 39
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[Question ID = 414][Question Description = Q11_AEN_PA_NAIRAUG4]
I (True), I (True), Ill (False}, IV (False) !

I(FR, 11 (R, 1 (@Tea), v ()

[Option ID = 1653]
I (True), Il (True), 1l (False), IV (True)

@, @, 0 ), (v ()

[Option ID = 1654]
| (False) Il (False), Ill (True), IV (False) /

| (Err), 1 (), 1 (EEn, 1w ()

[Option ID = 1655]
| (False), Il (True}, Il {True}, IV (False)/

I @), 1 (FR), 0 (&R, v ()
[Option ID = 1656]

Correct Answer :-
I (True), Il (True), lll (False)}, IV (False) /

(gD, 1 (@8, 1 (@Tera), v (Eree)

[Option ID = 1653]



2) Match the entries in Column X (Cement compounds) and Column Y
(Cement properties) and find out the correct combinations:

Column X ColumnY
. CsS P. Early age strength
II. GC:S8 Q. Later age strength
. GCsA R. Flash setting

S. Highest heat of hydration
T. Lowest heat of hydration

Which one of the following is correct:

o d X (Wi @uss) AR @R v (@ee & on & ofaat @
AT &Xch, el dlsld @l Uar o -

HicTH X PIeTH Y
. #HnLum . Y H O A BT
. E@nLud . dg o U H Ty
n. #ho HR.  Woler Ffear

TH.  HSdH FIIAA HT FCAT
a FATH TS P FCAT
Teafefaa & @ siaar @@ ¢ -

[Question ID = 415][Question Description = Q12_AEN_PA_NAIRAUG4]
. =P, (- (@ and (T), (1)~ (R) and ()
L) -, G0 - @@ T @D, (1) - GR) T (T
[Option ID = 1657]
(1) - (@) and (T), (II) - (P) and (S}, ()~ (R) /
) - (@) wg (&), (1) - (@) wa (Ta), (111) - (3W)
[Option ID = 1658]
(1) (P, (1) - (Q) and (R), (1) -(T)/
(1) = (@), (1) - (@) @@ @), (1) - @)
[Option ID = 1659]
(1) -(T) (I - (3), (1) -{F) and (Q) /
() - @), (1) - (@m), () - (dn) @ (F=)

[Option ID = 1660]

Correct Answer :-



(1)~ (P), () - (@) and (T), (1)~ (R) and (S) /
() - (), 1) - (@) =@ (&), (1) - () =& (')

[Option ID = 1657]

13) .
P j /( N

Cansider a beam PQ fixed at P, hinged al Q, and subjected to a load F
as shown in figure. The static and kinematic degrees of indeterminacy,
respectively, are:

mdA PR AR M A PR TRt oW e & N W
o & TEd 399N F o o T § | AEEEa & BRRr AR
aifce Bt e 5

[Question ID = 416][Question Description = Q13_AEN_PA_NAIRAUG4]
1. 2andi/2 Td 1

[Option ID = 1661]
2. Zand0/2 99 0

[Option ID = 1662]
3. 1and2/1 g 2

[Option ID = 1663]
4 Pand2/2 wd 2

[Option ID = 1664]
Correct Answer :-

® Zand1/2 19 1

[Option ID = 1661]

14) in a triaxial Unconsolidated Undrained (UU) test on a saturated clay
sample, the cell pressure was 100 kPa. If the deviatoric stress at failure
was 150 kPa, then the undrained shear strength of the soil is kPa.

T fgtes @ el & A W gs-Uiaadel AEeses Heles
(7.4.) udiator A Jof g/ 100 Tohell ureher A afe Heay o sfavey
T 150 Forell URehd 41, o el &1 g R Ty

feell UReRet ¥ |

[Question ID = 417][Question Description = Q14_AEN_PA_NAIRAUG4]
1. 100

[Option ID = 1665]
2. B0

[Option ID = 1666]
3. 75

[Option ID = 1667]
4. 25

[Option ID = 1668]

Correct Answer :-



¢ 75

[Option ID = 1667]

) An ant walks in a straight line on a plane leaving behind a trace of its
movement. The initial position of the ant is at point P facing east.
N

1.

The ant first turns 72° anticlockwise at P, and then does the following two
steps in sequence exactly FIVE times before halting.

1. Moves forward for 10 cm
2. Turns 144° clockwise

The pattern made by the trace left behind by the ant is:

T T YNIge U¥ Ueh WT @ A Tedr £ 3N e i sraer T
o1 fme siEdr € | I & o ufa g p w gg & 3R #@w@
TP & |

N

el Ugel P WX 72° @A HACT ¢, AR R Thd § Uge @A H
Sl or ot @ 8 U a) aear B
1. 10 TAT 3T F&ar §

2. 144° ZIROTAT gHAT &
el gRT oIS 70 R & aer dea &

[Question ID = 418][Question Description = Q15_AEN_PA_NAIRAUG4]

[Option ID = 1670]



[Option ID = 1671]

T

c
w

P Q
[Option ID = 1672]

Correct Answer :-

16) A M
P D Q
1
|< L/2 >
al L -,1

A cantilever beam PQ of uniform flexural rigidity (El) is subjected to a
concentrated moment M as shown in the figure. The deflection at the free
end Q is:

THATT FolcFailel ST3er (El) & T chicolay atF PQ o = & femd

AR U digd HAAC M T g3 & | JF Y Q W Brawre
e 1

[Question ID = 419][Question Description = Q16_AEN_PA_NAIRAUG4]
1. 3ML2/ 4E

[Option ID = 1673]
2. MLZ/BEI

[Option ID = 1674]
3. 3ML2/8El

[Option ID = 1675]
4. ML2/4E

[Option ID = 1676]

Correct Answer :-
® aMLE/BE

[Option ID = 1675]



17) If Q = Peak Runoff {in m¥sec). | = Rainfall Intensity (in mm/hour), C =
Runoff Co-efficient, A = Area of catchment {in km?)

afg o = HGeaw W Hw P AEs #), 0 = aRy & dea
(Tl /efer &), ¢ = 1= 3% auis |, A - Fedie @ sEve (e
a); o -

[Question ID = 420][Question Description = Q17_AEN_PA_NAIRAUG4]
1. @=0.0278 CIA

[Option ID = 1677]
2. @=0278CIA

[Option ID = 1678]
3. Q=000278 CIA

[Option ID = 1679]
4. Q=CIA

[Option ID = 1680]

Correct Answer :-

® Q=0278CIA

[Option ID = 1678]

In case of bids in two-packet system, the correct option is:

ar-Ueke vumel # 9T & A #, e Geen

[Question ID = 421][Question Description = Q18_AEN_PA_NAIRAUG4]
Either of the bids (Technical and Financial) can be opened first /

1' FE ot fs (G 3t Rrdr) geer @i o TEd &

[Option ID = 1681]

Financial bid is opened first /

R R Ted @ o ¥

[Option ID = 1682]

Both bids (Financial and Technical) are opened simultaneously /
3

| 2T fs (@ it R wE e @ e
[Option ID = 1683]

Technical bid is opened first /
4

el T oEe w e R

[Option ID = 1684]
Correct Answer :-

Technical bid is opened first /

. et 43 gger @rell AT ¢



[Option ID = 1684]

As per IRPWM 2020, what is the service life in terms of total GMT of traffic
carried for considering TRR (P) on important bridges in case of 60 kg 90
UTS rail ?

S HFRA e, vA. 2020 & IJER, Ageaqol ol R ELARHN. ()
& faar & forw 60 e 90 F.&rud. Ia #r AaH o1sh Thdel Sil.UA.EL
g ?

[Question ID = 422][Question Description = Q19_AEN_PA_NAIRAUG4]
1.
350

[Option ID = 1685]
2. 525

[Option ID = 1686]
> 800

[Option ID = 1687]
* 400

[Option ID = 1688]
Correct Answer :-

* 400

[Option ID = 1688]

20 As per IRPWM 2020, what is maximum vertical wear for considering
renewal of 60 kg 90 UTS rails ?

g AN A Zecy TA. 2020 & IFER, 60 fharamA 90 Fdww. W
TR W TaR a & 0T Feahe) 33) 7 sfsas d@ar Baar
g2
[Question ID = 423][Question Description = Q20_AEN_PA_NAIRAUG4]
“ 13mm/13 A&
[Option ID = 1689]
2 12mm/ 12 &
[Option ID = 1690]
* 8mm/8 &
[Option ID = 1691]
* None of the given options / @& 14 Teear # T &S 78T
[Option ID = 1692]

Correct Answer :-

* 13mm/13 =&



[Option ID = 1689]

2V Diameter of bolt holes, for connecting fish plates, in 52 kg rail is

52 fFam. Y& &, e ware o & forw, diee o # ey g1

[Question ID = 424][Question Description = Q21_AEN_PA_NAIRAUG4]
' 32mm /32 ..

[Option ID = 1693]
2 29mm /29 AL

[Option ID = 1694]
> 27mm /27 TR

[Option ID = 1695]
* 25mm /25 fA.AL

[Option ID = 1696]

Correct Answer :-

* 32mm/ 32 A

[Option ID = 1693]

22 As per IRPWM 2020, the design toe load of ERC-MK-V is

HTE. AR U364, TH. 2020 & HGAR, 3.3.HL-AMR-V & Ba8a e AR
gl

[Question ID = 425][Question Description = Q22_AEN_PA_NAIRAUG4]
" 850-1100 kg / 850 - 1100 f&.3m.

[Option ID = 1697]

1200 - 1500 kg / 1200 - 1500 f&F.am.
[Option ID = 1698]

> 690 kg / 690 .3,
[Option ID = 1699]

“ 650 -1100 kg / 650 - 1100 .3

[Option ID = 1700]

Correct Answer :-

* 1200 - 1500 kg / 1200 - 1500 f&.3m.

[Option ID = 1698]



23) For machine crushed ballast, ballast retained on 40 sq. mm. mesh sieve
should not be more than , for payment without any deduction.

AT o3 Fedy & e fordr @weldt & oerare & forw, 40 fAn
GRS aTell Tolell WX, _ ® SA1eT PIed a& Foe amfew |
[Question ID = 426][Question Description = Q23_AEN_PA_NAIRAUG4]
5% [/ 5%
[Option ID = 1701]
2 20% / 20 %
[Option ID = 1702]
> 30% / 30 %
[Option ID = 1703]
“ 60% / 60 %

[Option ID = 1704]

Correct Answer :-

*60% / 60 %

[Option ID = 1704]

24) As per IRPWM 2020, the minimum formation width to be ensured for new
works/alteration to existing works in embankment and in cutting (excluding
side drains) for single line straight track is ;

IS H. 3 .UA. 2020 F HFER, SHe a5 A {9y 7 73 Fa
| FaATE HET H aREdd & o wedwde ar i fr wgeaad e
disE (FES 3T H oEH) _ glAlad & A ¢ |

[Question ID = 427][Question Description = Q24_AEN_PA_NAIRAUG4]
13160 mm / 13160 &=

[Option ID = 1705]
> 7850 mm / 7850 fA.HT.

[Option ID = 1706]

3 13610 mm/ 13610 AT
[Option ID = 1707]

+ 16310 mm/ 16310 ..
[Option ID = 1708]

Correct Answer :-

* 7850 mm / 7850 TAAT

[Option ID = 1706]



25 As per IRPWM 2020, maximum design gap of 60 kg/m rail section double
gap SEJ is mm.

. HR.A3e0Y UA. 2020 F 3HFER, 60 FrRam/AT ¥ T & 3o 3T
THES. FT HFan Bama g @A E

[Question ID = 428][Question Description = Q25_AEN_PA_NAIRAUG4]
" 65mm / 65 AL
[Option ID = 1709]
2 160 mm / 160 &=
[Option ID = 1710]
3 40 mm / 40 AT
[Option ID = 1711]
“ 80mm / 80 &AL
[Option ID = 1712]

Correct Answer :-

65mm / 65 &AL

[Option ID = 1709]

26) To ensure exact gauge, the gauge tie plates are provided at

TsheH Wl A GiATead Ha & o, O¥ 3 TS Tole of9aT

ST e |
[Question ID = 429][Question Description = Q26_AEN_PA_NAIRAUG4]

' Toe of the switch | TETFear

[Option ID = 1713]
Toe of the crossing | T & o

[Option ID = 1714]

2.

3. Heel of the switch | T&ag & &
[Option ID = 1715]

4, - 2 W Wi e
Stock Rail Joint | T I JASC

[Option ID = 1716]
Correct Answer :-

* Toe of the switch | Tag & ar

[Option ID = 1713]



2D As per IRPWM 2020, location of JOH for 10125 mm Curved Switch on
PSC, BG, 60 kg (RT-4219) is from ATS.

WE AN S UA. 2020 & IgER, qovadl &3 A+, 60 foram
(AXE-4219) & 10125 A aw Tag & v, g &1 =+
vdrug. ¥ gl

[Question ID = 430][Question Description = Q27_AEN_PA_NAIRAUG4]

" 4765 mm /| 476.5 TAAL
[Option ID = 1717]

23229 mm [/ 3229 fa#.
[Option ID = 1718]

31682 mm / 1682 T&.AY.
[Option ID = 1719]

“ 5836 mm / 5836 fAAL.
[Option ID = 1720]

Correct Answer :-

5836 mm / 5836 &AL

[Option ID = 1720]

28 As per IRPWM 2020, in PSC BG turn out, Gauge and Cross Level should
be recorded at ahead & behind of ANC.

W HR.A.3e UA. 2020 F HJER, W.UEH. §5 A TAH3C # I
O T oidd, TUAEL & 3 3K 9 e forar aer @fee |

[Question ID = 431][Question Description = Q28_AEN_PA_NAIRAUG4]
1000 mm/ 1000 ..
[Option ID = 1721]
2 500 mm /500 f&.#T.
[Option ID = 1722]
- 250 mm /250 TH.#L
[Option ID = 1723]
* None of the given option / @& 3T &Feal # ¥ HIs sl
[Option ID = 1724]
Correct Answer :-

* 1000 mm/ 1000 f&.HY.

[Option ID = 1721]



29 As per IRPWM 2020, a tongue rail may be classified as worn/ damaged

when it is chipped/cracked over small lengths aggregating to mm
within a distance of 1000 mm from its toe.

HTS. HR.HT.5ecg, TA. 2020 & HFER, T &7 I i foram gam/aiaerned
a9 geffga famar SiaT @ 5@ 98 o9« @ § 1000 AT F gl & sfew

FH T FH ﬁ.ﬁ.%gﬁﬁﬁéﬁﬂﬁﬁtﬁgmaﬁﬁrgmm
ol
[Question ID = 432][Question Description = Q29_AEN_PA_NAIRAUG4]
" 100
[Option ID = 1725]
2150
[Option ID = 1726]
> 200
[Option ID = 1727]
+ 250

[Option ID = 1728]
Correct Answer :-

* 200

[Option ID = 1727]

30 As per IRPWM 2020, no fish-plated joint should be located on the girder
or within from either abutment.

373 H.H. 3569 TA. 2020 & AN, T 9T AT &l TacHe |
& iy fiver woids S @81 W S =R |
[Question ID = 433][Question Description = Q30_AEN_PA_NAIRAUG4]
“13m / 13 #HL
[Option ID = 1729]
“ 4m /| 4
[Option ID = 1730]
133 m/ 13.3 &t
[Option ID = 1731]
6m [/ 6 &

[Option ID = 1732]

4.

Correct Answer :-

6m [/ 6 &

[Option ID = 1732]



3 Frequency of inspection of Channel sleepers on bridges by SSE/P.Way

(Sectional) is:

TH.UH.SAEY (3AElE) @ Yol W dde T & e &y
IR &

[Question ID = 434][Question Description = Q31_AEN_PA_NAIRAUG4]
. Once in 6 months / 6 AZIA & T&h X

[Option ID = 1733]

2 Once in year before monsoon /[ ATAHA & Tgel a¥ H TH a
[Option ID = 1734]

> Once in every quarter / Ucdiss TaHATEN H T a1
[Option ID = 1735]

4 Twice in 6 months / 6 Agl H & I
[Option ID = 1736]

Correct Answer :-

* Oncein 6 months / 6 AR H T X

[Option ID = 1733]

In brand marking on Rails following details are included:
(1) Grade of steel,

(ii) Process of steel making

(iii) IRS Specifications

(iv) Identification mark of manufacturer

Which of the following option is correct:

W W §iE @tk & Feafefaa Rawor offe 8 &
(i) T FT I

(i) T IaTeT T uiehar

(iii) 333N vH. WA

(iv) T @ geare e

T § @ &9 @ GFsg @@ &

[Question ID = 435][Question Description = Q32_AEN_PA_NAIRAUG4]



1. Only (i) & (i) /T8 (i) @& (ii)

[Option ID = 1737]

All above [ FOXTET T

[Option ID = 1738]

3. Above all except (i) only / F&F (i) & 3remar 390ag el
[Option ID = 1739]

4. Above all except (iii) only / 0% (iii) & 3TTaT TS T

N

[Option ID = 1740]

Correct Answer :-

* Above all except (i) only / TEF (i) & FoTar IURITT T

[Option ID = 1740]

In specifications of track ballast, in normal cases:
(1) Maximum limit of aggregate impact value is 20%
(i) Maximum limit of water absorption is 1%

(if) Maximum limit of retention on 65mm sieve is 5%

Which of the following opftion is correct:

Yo &1 Fred & wofafesue &, FuRoT w3

(i) wivie s:iae dog & 3ifman g 20% &
(i) STer 3raenuor At 3fcas @ 1% ¥

(iii) 65 T3 da W R &ir 3Rhanm dam 5% &

Aeafaf@a & ¥ alF a1 feer @8 &

[Question ID = 436][Question Description = Q33_AEN_PA_NAIRAUG4]
1. Only (i) & (ii) are correct / THW (i) TT (i) T&T &

[Option ID = 1741]
2. Only (i) & (iii) are correct/ f&F (1) Ta (i) T &

[Option ID = 1742]

3. ‘Above all are correct / 3990 OHT T8 &

[Option ID = 1743]

4. Only (ji) is correct/ T8 (i) ®&T &
[Option ID = 1744]

Correct Answer :-

® Above all are correct / 39T G FEr £

[Option ID = 1743]



3 There are three parallel tracks under a Road Over Bridge (ROB), the
distance of nearest center line of track from left side abutment is 7m and
distance of nearest center line of track from right side abutment is Sm. In
this case, Guard rails are to be provided:

TF VT 3T T (3maa) F a9 97 AR & & | 9 %
& TecHe W fiecan ¢& &1 Hel osa i g 7 Hex ¢ AR gt &
& UscHe ¥ fAwean ¢& & Her osa & gt 9 M 7| 3H AAHA A
e I YIS ST AT 8

[Question ID = 437][Question Description = Q34_AEN_PA_NAIRAUG4]
" On all three tracks / @t d&T ¢ W
[Option ID = 1745]

2. On both outer tracks / €A1 ST ¢ 9T

[Option ID = 1746]

3. Not required on any track / &t & 9T 39T+ 6T &

[Option ID = 1747]

Only on track near left side abutment /
4

| ¥aw 9 U ¥ TeedT & U a9 3F W

[Option ID = 1748]

Correct Answer :-

Only on track near left side abutment /

Faol 9T TP & TeeHc & UTH dlel ¢h U7

[Option ID = 1748]

35) In LWR/CWR track, minimum level of supervision for "Packing or renewal
of single 1solated sleeper not requirng lifting or slewing of track”, is:

Ul 5504, 3. /A SSe 3. & # "TaeTl 3otT a1 T 1 3Taededl &,
el v ey 4 I FdEeT F T SEae T a
TAAEToT FTE

[Question ID = 438][Question Description = Q35_AEN_PA_NAIRAUG4]
' Keyman / grdiarer
[Option ID = 1749]
2 SSE (P. Way) / TH.TH.3. (3&9Y)
[Option ID = 1750]
> Gang Mate / 31 Ae
[Option ID = 1751]

4 JE (P. Way) / 3. (Yo9e)

[Option ID = 1752]



Correct Answer :-

* Gang Mate / 37T A

[Option ID = 1751]

3% Indicate type of painting on both faces of weld (in rail head) after detection
of DFWR defect:

31.U%h . 3ecg M. FB%ae 1 gaT e & A1 903 &F gl BH W (I
&S #) & o arell U F YRR & SHT oy
[Question ID = 439][Question Description = Q36_AEN_PA_NAIRAUG4]
- One Cross with Red Paint / &Tel Y¢ & GTI U HIF
[Option ID = 1753]
2. Two Cross with Red Paint / &Tel 9T & &1 & H1E
[Option ID = 1754]
> Three Cross with Red Paint / #Tel U & @ Jie &g
[Option ID = 1755]
4 Three Cross with Green Paint / 8¥ Ue & @1g 31 &
[Option ID = 1756]

Correct Answer :-

* Two Cross with Red Paint / &iTeT 9T & TTY & HIT

[Option ID = 1754]

37 Free Rail while stacking shall be supported at least at

W Yo @ TfheT o TET &H ¥ FF _ gule fRar Ser @@y |
[Question ID = 440][Question Description = Q37_AEN_PA_NAIRAUG4]
" 2 Points / 2 S8
[Option ID = 1757]

2 3 Points / 3 F918
[Option ID = 1758]

* 4 Points / 4 S8
[Option ID = 1759]

4 5 Points /5 S8
[Option ID = 1760]

Correct Answer :-

* 4 Points / 4 J9T8

[Option ID = 1759]



%) Sensitive setting of USFD instrument is to be done:

I.vH.eh 3. A Fr wagaeerar aider & S § |

[Question ID = 441][Question Description = Q38_AEN_PA_NAIRAUG4]
1. Oneeinaweek / 95316 # Ud dl

[Option ID = 1761]
Every day before conducting Ultrasonic test /

| 57 B yecaiTE olET e ¥ e

[Option ID = 1762]
3. OnceinaMonth/T& Hi & Uh an

[Option ID = 1763]
4. None of the given options / &2 aIT fa&edt & ¥ 1% =87

[Option ID = 1764]

Correct Answer :-
® None of the given options / |53 710 TaFedl § O @15 =60

[Option ID = 1764]

Kidney cracks in Rail originate generally at an angle of , below the
running surface.

I # freal e, @TuRoTH & I T AT Tdg F drd Sceod
g T |
[Question ID = 442][Question Description = Q39_AEN_PA_NAIRAUG4]
- 180 230
[Option ID = 1765]
2 13%9-18°
[Option ID = 1766]
> 230270
[Option ID = 1767]
4+ None of the given options / & 31T Ta&eai H & s dal
[Option ID = 1768]
Correct Answer :-
* 180230

[Option ID = 1765]

Bending of rail ends due to loose packing under a joint and loose fish bolts,
is known:

Yo Sst & o o e AR o= e diccw & FRoT W@ & R
HqFAT _ FgAATE |



[Question ID = 443][Question Description = Q40_AEN_PA_NAIRAUG4]
- Buckling / ehlalar
[Option ID = 1769]
2. Hogging / @Tfaier
[Option ID = 1770]
Creeping / hTdaT
[Option ID = 1771]
“ Yielding / JdreSteT

[Option ID = 1772]

3.

Correct Answer :-

* Hogging / @faiaT

[Option ID = 1770]

41 The diameter of holes in fish plate for B.G. is mm.

§13 I & fow fifer woie & O &1 W a7

[Question ID = 444][Question Description = Q41_AEN_PA_NAIRAUG4]
1. 27

[Option ID = 1773]
2. 20

[Option ID = 1774]
3. 32

[Option ID = 1775]
4. 25

[Option ID = 1776]
Correct Answer :-
° 27

[Option ID = 1773]

The Catch Water drain are provided in the:

& areT 3 Huea fraar g |

[Question ID = 445][Question Description = Q42_AEN_PA_NAIRAUG4]
1. 5 & - o ot
Formation in the embankment / sl & BILAH

[Option ID = 1777]

% Formation in cutting / Ff&T F BRE

[Option ID = 1778]
3 Zero fill formation / Q=T #XUT B

[Option ID = 1779]



* None of the given options / & 717 SFear # & Hi5 80

[Option ID = 1780]

Correct Answer :-
* Formation in cutting / FEeT #F BRET

[Option ID = 1778]

43)  |f“R” is the radius of a circular curve, then the versine on a chord of length
“C" will be:

Ife “HIT” TFH AeMhT dF H BT g, aF o @ ¥ v SAar W

[Question ID = 446][Question Description = Q43_AEN_PA_NAIRAUG4]

- C2/4R /[ TP 43R
[Option ID = 1781]
2 C/8R / ar / 83T

[Option ID = 1782]

3 C2/8R [ @2/ 8¥R
[Option ID = 1783]

4+ C/HM4R [ "/ 43R
[Option ID = 1784]

Correct Answer :-

* C?/8R / @2/ 8

[Option ID = 1783]

44 As per IRBM, the minimum spacing of end bearing piles shall be
times the diameter of pile shaft.

IEINATA. & IR, U3 93N USed H ~ead TR q5a

ATFE & TATH AT FleAl AR |
[Question ID = 447][Question Description = Q44_AEN_PA_NAIRAUG4]
1. 3

[Option ID = 1785]
2. 2

[Option ID = 1786]
3. 25

[Option ID = 1787]
* 35

[Option ID = 1788]

Correct Answer :-



* 25

[Option ID = 1787]

In case of water level crossing danger level in bridges,

qell O Glel T FA TR FA HOIN B W

[Question ID = 448][Question Description = Q45_AEN_PA_NAIRAUG4]
- Speed restriction be imposed / I1fa wfaEe semar AT
[Option ID = 1789]

Traffic be suspended till water recedes /
2

UTAT &1 TaX &H 8l g% aiarard &l Wofead Y ear I
[Option ID = 1790]

Traffic be suspended till a responsible person inspects the site and
declares it safe for running traffic /

ITARTT H I d& [deiad @ A I doh S5 @FAGR cdiad d8c
Fr fAleTor e 38 I & v Wit s &= g

[Option ID = 1791]

* Bridge watchman be posted / gaf @dhiaR &I dard fram S

[Option ID = 1792]

Correct Answer :-

Traffic be suspended till a responsible person inspects the site and
declares it safe for running traffic /

IraETd H d9 deh foeifed @ I 39 do $ie SFHeR cdiad dise
F1 e Fe 30 IAEE F o @ 89ivg &) &

[Option ID = 1791]

Minimum thickness of Metallising layer, as per IRBM, shall not be |ess than
microns.

S HLA.TA. &F HJAR AT I N AdH HAlEE __ ASHIA
O FH AgT ger e |

[Question ID = 449][Question Description = Q46_AEN_PA_NAIRAUG4]
" 115
[Option ID = 1793]
2 110
[Option ID = 1794]
> 150

[Option ID = 1795]



4 175

[Option ID = 1796]
Correct Answer :-
* 1156

[Option ID = 1793]

47)  Coefficient of friction is minimum in

UNUT H TAaH O HE

[Question ID = 450][Question Description = Q47_AEN_PA_NAIRAUG4]
'+ Mild steel over mild steel / ATSes EIel 9T ASes &Kol
[Option ID = 1797]
2 Mild steel over phosphor bronze / BIFRIT FHIET UT ASes o
[Option ID = 1798]
3 PTFE over stainless steel / e Tl W YL.E.TH.S.
[Option ID = 1799]
4 PTFE over PTFE / d1.&1.T% 3. 9T M.&.vHm 5.
[Option ID = 1800]

Correct Answer :- Deleted

For an open web through girder, mark the correct statement.

U 3O a9 Y o F v, T Fua #@ BAfeea #

[Question ID = 451][Question Description = Q48_AEN_PA_NAIRAUG4]
1 Sleepers rest on the cross girders directly /
TRt & W FrE T W @S &
[Option ID = 1801]

) Sleepers rest on the stringers directly /

ToraRt & g et ) @y &
[Option ID = 1802]

; Sleepers rest on the bottom chord members directly /

| e F W e Y Al o
[Option ID = 1803]

) None of the given options /

e e
[Option ID = 1804]

Correct Answer :-



Sleepers rest on the stringers directly /

TolrqRt st drer fEEaRy o @ &

[Option ID = 1802]

49 URN of 20364244 for a major bridge means bed block needs

UF AR o & I ANTA. 20364244 F Aded § @S 98 ol @l
$T ITERTHAT § |

[Question ID = 452][Question Description = Q49_AEN_PA_NAIRAUG4]
' Immediate repairs / IRl ALFHA

[Option ID = 1805]
2. Special repairs / {99 #AFEAT
[Option ID = 1806]
3 Replacement / et
[Option ID = 1807]
* Routine maintenance / ¥l I@I@EE

[Option ID = 1808]

Correct Answer :-

* Routine maintenance / ¥ IE@IEE

[Option ID = 1808]

°0) Elastomeric bearings are reinforced to have

SoTEe AR gt & ucT FeT & fore vaferg fBFar smar #
[Question ID = 453][Question Description = Q50_AEN_PA_NAIRAUG4]
'+ Higher shear capacity / 3=a /T &Har
[Option ID = 1809]
2. Higher rotational capacity / 3= El;Uﬂ‘ &HAr
[Option ID = 1810]

3. Reduce bulging / && afeater

[Option ID = 1811]
4 None of the given options / @& 71T Feedal H & &1 80
[Option ID = 1812]

Correct Answer :-
* Reduce bulging / & Sfe<ter

[Option ID = 1811]



>N With respect to HSFG bolts, choose the incorrect statement.

TH.TH.UR.SM. dioe § HEUd Tod Sy gol |

[Question ID = 454][Question Description = Q51_AEN_PA_NAIRAUG4]

They shall be inspected visually for detecting broken & loose bolts /
1.

g¢ 3R Sl doe & 9d1 9 & forw 3o fagarer Adeor far s

[Option ID = 1813]

Hitting them to check loosening is not allowed /
2

| e i i & T S o A sl A
[Option ID = 1814]

Their retightening is not allowed /
3

e U HEA FT AT AT &
[Option ID = 1815]

They shall be painted once in three years /
4

s A W F e av G & oae
[Option ID = 1816]

Correct Answer :-

They shall be painted once in three years /

IhT died "Il H# Teh &I YTedl sl A

[Option ID = 1816]

32) For jacketting, dowel bars should be taken inside the masonry to a depth
not less than

FFfe & [T, S ©3 & TS & 3eT F7 9 F7 fr I_S
% o ST e |

[Question ID = 455][Question Description = Q52_AEN_PA_NAIRAUG4]
150 mm /150 &Y
[Option ID = 1817]
2300 mm /300 T&.#T.
[Option ID = 1818]
> 200 mm /200 f&.#r
[Option ID = 1819]
4 250 mm / 250 T&.AY.
[Option ID = 1820]

Correct Answer :-



* 200 mm/ 200 A

[Option ID = 1819]

>3) What is the role of tooth bar in rocker & roller bearing ?

Tt 3R Ter gl & oo a) &7 F=2r 47w § ?
[Question ID = 456][Question Description = Q53_AEN_PA_NAIRAUG4]

To arrest movement of rollers beyond permissible limit /
1

iR B ¥ 3 Ao & A B de

[Option ID = 1821]

2. Connecting all rollers / T T T ASaAT
[Option ID = 1822]

3. Maintain clear gap between rollers / Teid & &I TISC 3T SATT T&AT

[Option ID = 1823]
4 All the given options / @& a1 @sft Reew
[Option ID = 1824]

Correct Answer :-

To arrest movement of rollers beyond permissible limit /

s e @ A O & Fe # Qe

[Option ID = 1821]

>4 As per IRBM, clearing of water way of bridges is carried out by:

HEHLATH. & HJUR, ol & A HARN H A6E-HHS canT
& ST T

[Question ID = 457][Question Description = Q54_AEN_PA_NAIRAUG4]

- Permanent Way Inspector / {79y @d{ieTs

[Option ID = 1825]

2. |nspector of Works / & et
[Option ID = 1826]

3 Bridge Inspector / gar far{tars
[Option ID = 1827]

*  Inspector nominated by HQ / HEATIT EaRT AT o ieTs
[Option ID = 1828]

Correct Answer :-

* Permanent Way Inspector / {oiay @&

[Option ID = 1825]



3 Name boards at important bridges should be fixed at either approach at a

distance of about from the abutment.
FEeaqUl Goll & ATH Holdh JacHS 8 oaTsm T CRU R I

9 FET S AIRT |
[Question ID = 458][Question Description = Q55_AEN_PA_NAIRAUG4]
" 25m/25 .
[Option ID = 1829]

2 15m /15 .
[Option ID = 1830]

3 10 m/10 &
[Option ID = 1831]

* 50m /50 #HI.
[Option ID = 1832]

Correct Answer :-

* 15m/15 &I,

[Option ID = 1830]

%6) While riveting a loose joint, not more than _ rivets should be cut at a
time.

A s A AT o 9T, T §AT &H W 39+ Nae =
T F8l e ATl TMET |

[Question ID = 459][Question Description = Q56_AEN_PA_NAIRAUG4]
" 40%

[Option ID = 1833]
2 30%

[Option ID = 1834]
3 10%

[Option ID = 1835]
4 20%

[Option ID = 1836]
Correct Answer :-
* 10%

[Option ID = 1835]

Marginal Bunds are provided

F v Afdae des@ 9 S ¢ |



[Question ID = 460][Question Description = Q57_AEN_PA_NAIRAUG4]

"+ To guide the river flow / FET & WaIg T ANIGIT Fld & [T
[Option ID = 1837]

2 To contain the spread of the river / #ET & %arg FT Ut F T
[Option ID = 1838]

To block one or more channels of the river /
3

G & UF AT AfUE AT B HICY IS F o
[Option ID = 1839]
* All the given options / @3 717 @it R{eey
[Option ID = 1840]

Correct Answer :-

* To contain the spread of the river / #ET & el FT Vbt F T

[Option ID = 1838]

°8) Rocker bearing permits movement.

VAT FERET  Hgee H AT & ¢
[Question ID = 461][Question Description = Q58_AEN_PA_NAIRAUG4]
- Longitudinal / 3t

[Option ID = 1841]
2 Lateral / Ui
[Option ID = 1842]
3 Rotational / Treeraer
[Option ID = 1843]
4 None of the given options / @3 71T &Gsedl & ¥ Fiz 80
[Option ID = 1844]
Correct Answer :-
* Rotational / T

[Option ID = 1843]

39 Considering the grade compensation on curves, the steepest gradient
permissible on a 2.5 degree curve for a BG line having ruling gradient of 1
in 200 is:

aohi H AT HUAUA F AT T@S §T, 200 H 1 Ffoler AR arelr w19
AT e A 2.5 Bl a9 W ’¥FaA AT Afzve BT |

[Question ID = 462][Question Description = Q59_AEN_PA_NAIRAUG4]

" 1in 150/ 150 & 1



[Option ID = 1845]

> 1in250/250 & 1
[Option ID = 1846]

3 1in300/300 # 1
[Option ID = 1847]

“ 1in350/350 & 1
[Option ID = 1848]

Correct Answer :-

* 1in250/250 # 1

[Option ID = 1846]
%0 The estimate is prepared mainly for the purpose of examining the
justification of any work proposal with cost implications and obtaining
Administrative approval of the competent authority.

TEIAT HE 0 ¥ @FF AJAA & Ay e ofr
UEATE & AT @ ST e A HETH IR I eTHiss Tl
UTST F & 365ed & ST AT §

[Question ID = 463][Question Description = Q60_AEN_PA_NAIRAUG4]

- Supplementary / GceliHeLr

[Option ID = 1849]
2 Part/4rE

[Option ID = 1850]

3 Revised / arsss

[Option ID = 1851]

4 Abstract /| Tstcac
[Option ID = 1852]

Correct Answer :-

* Abstract / Tsigac

[Option ID = 1852]

1) For Officers quarters, frequency of interior distempering is:

HEHRT marET & forw, AR Beafr & s &
[Question ID = 464][Question Description = Q61_AEN_PA_NAIRAUG4]
1. Onceinayear/@¥ & UF @

[Option ID = 1853]
2. Onceintwo years /gl ¥ & U& ax

[Option ID = 1854]
3. Thereis no such periodicity / THT &5 H@IEwaT T80 &



[Option ID = 1855]
4. Once in three years /g1 @9 # & a0

[Option ID = 1856]

Correct Answer :-
* Once intwo years /ZT @9 # Tk ax

[Option ID = 1854]

62) As per IRWM, what is the minimum height of Plinth from the surrounding
ground ?

3T$. 33609 TH. & 3TJHN, I @ STH § Ty & oo Fars
fraer & 2

[Question ID = 465][Question Description = Q62_AEN_PA_NAIRAUGA4]

" 450 mm /450 TR
[Option ID = 1857]

* 600 mm /600 fA.#T.
[Option ID = 1858]

- 500 mm /500 .5
[Option ID = 1859]

* 300 mm/ 300 fA.H.
[Option ID = 1860]

Correct Answer :-

* 450 mm /450 fAHAT.

[Option ID = 1857]

%3 Frequency of periodical inspection of Structures such as workshops,

running sheds, platform covers, and foot over bridges by ADEN is:

TS UA. GaRT FAAAT, TeAer A3, TolewiH Hax AN Fe Haw e
S grEenst & amafve Sl froamgfy g |

[Question ID = 466][Question Description = Q63_AEN_PA_NAIRAUG4]
' Every vear / 87 ®Tol

[Option ID = 1861]
2 Oncein3years/3 AT H Th aR

[Option ID = 1862]

One fifth every year on programmed basis /
3

| UE d¥ WS YR U qiadl H1ET

[Option ID = 1863]
4 As and when required / S5 & 3@2TSHar &
[Option ID = 1864]

Correct Answer :-



One fifth every year on programmed basis /

TS dY WS MUY U qiadr HTeT

[Option ID = 1863]

) As per IRWM, the maximum desirable limit for total hardness as CaCQs
(mg/L) for drinking water is:

TS AN 360G, UH. & AR, 9TSTol & TolU ANl #l HUhcd aroed
T HioemH FElae F &7 F (fFar/e) g |

[Question ID = 467][Question Description = Q64_AEN_PA_NAIRAUG4]
300
[Option ID = 1865]
2100
[Option ID = 1866]
> 100 - 150
[Option ID = 1867]
* 150 - 200
[Option ID = 1868]
Correct Answer :-

* 300

[Option ID = 1865]

63) A pipe which is installed in the house drainage to preserve the water seal
of traps is called:

U & greY Uil & TET &l & o0 2 & I Hhdr § o0y A
STl dTol 1S9 &l Fel JAaT ¢ |

[Question ID = 468][Question Description = Q65_AEN_PA_NAIRAUG4]
- Vent pipe / 9€ 959
[Option ID = 1869]
2. Anti-siphonage pipe / TEI-BIE%ha= 9159
[Option ID = 1870]
3 Waste pipe / €€ 9129
[Option ID = 1871]
* Soil pipe / @IS 9IST
[Option ID = 1872]
Correct Answer :-
* Anti-siphonage pipe / TEI-B2%Aa 9139

[Option ID = 1870]



66) As per IRWM, the velocity of flow in a sewer is recommended not to
exceed:

TS ISy UA. & 3HJAN, HaX # qarg H 997 T Ow &
gl Fr TAwmrier & St &

[Question ID = 469][Question Description = Q66_AEN_PA_NAIRAUG4]
" 5mis /| 5 HLA

[Option ID = 1873]
“2mis /2 #LA

[Option ID = 1874]

3 4mls | 4 #H:A

[Option ID = 1875]
“1mis | 1 #H/A
[Option ID = 1876]

Correct Answer :-

*2mis |/ 2 #.E

[Option ID = 1874]

67) Recuperation test is carried out to determine:

Repdtes eve oo i & fore frar smar &

[Question ID = 470][Question Description = Q67_AEN_PA_NAIRAUG4]

- Turbidity of water in well z_a;:’r H 9T T eEEer

[Option ID = 1877]

2 pH value of water in well / T # Tl &7 4.9, AT
[Option ID = 1879]

> Yield of well / T &r Hies

[Option ID = 1881]
* Depth of water table / aTeX ¢aa #T RS

[Option ID = 1883]
Correct Answer :-

* Yield of well / T &r Hes

[Option ID = 1881]



%) Presence of which of the following conditions can lead to creation of water
hammer condition in a water pipeline:

Fafofag # o e ufaar & suieufa O ol Fr asgesa & g
g 1 =T der & gehar &

[Question ID = 473][Question Description = Q68_AEN_PA_NAIRAUG4]

" Rapid opening and closing of valves / aTedl &7 dsit & Ferell 3R a5 g
[Option ID = 1886]

2 Rapid starting and stopping of pumps / 94T &7 dsil & 2% &l 31T Fha
[Option ID = 1888]

* Sudden interruption in power supply / fastell 3Tqfd & 3feTae aren
[Option ID = 1890]

4 All the given options / & a77 T@sfr &eeq
[Option ID = 1892]

Correct Answer :-

* All the given options / &3 a1 @sfr aereyg

[Option ID = 1892]
69)  As per IRWM, the distance between two boundary pillars shall not be more
than

HS I I UA. & HJUN, a a3 Worw & e & g u
HfEH L glell AT |

[Question ID = 475][Question Description = Q69_AEN_PA_NAIRAUG4]
- 200 m/ 200 .
[Option ID = 1893]
2100 m/ 100 &I,
[Option ID = 1895]
> 50 m /50 #.
[Option ID = 1897]
* 250 m/ 250 .

[Option ID = 1899]

Correct Answer :-

* 50 m/50 #r.

[Option ID = 1897]



700 As per IRWM, frequency of inspection of encroachments in the section by
Section Engineer (Works) is once in

HEHNSEY.UA. & HgAR, TS Aar (FR) c@anr @3 # sifawmaor
& fadreror #r smgfr HUH aR g |

[Question ID = 476][Question Description = Q70_AEN_PA_NAIRAUG4]
"1 year/1 "l

[Option ID = 1901]
2 6 months / 6 FLlal

[Option ID = 1903]

3 3 months /3 #gA

[Option ID = 1905]

4 1 month /1 Hg&AT
[Option ID = 1907]

Correct Answer :-

* 3 months /3 A

[Option ID = 1905]

) In case of temporary diversion, the super elevation provided is:

ERT SEada # YR vforders fear Smar # |

[Question ID = 479][Question Description = Q71_AEN_PA_NAIRAUG4]
" 50 mm /50 ..

[Option ID = 1910]
2 30mm /30 &AL

[Option ID = 1912]

3 20 mm /20 &AL
[Option ID = 1914]

4+ Zero /e
[Option ID = 1916]

Correct Answer :-

* Zero/ YT

[Option ID = 1916]



2 The speed potential of an existing BG section is to be increased to 110
Kmph. The sanction can be granted by:

Alser §13 3 @3 & aifa aHaT @ Fers 110 BT ufar wer e
ST E |3 GaNT Hell &1 o §hall ¢ |

[Question ID = 480][Question Description = Q72_AEN_PA_NAIRAUG4]
- PCE of Railway / {oid & 9.1 5.
[Option ID = 1917]
2. PCSO of Railway / To/d & dT.9T.TH.34T.
[Option ID = 1919]
3 PCOM of Railway / {oTd & dT.@r.310.08.
[Option ID = 1921]
4 CRS /#HI.3R.T4.
[Option ID = 1923]
Correct Answer :-

* PCE of Railway / {oid & 9T @1 =

[Option ID = 1917]
73) For existing lines, minimum distance center to center of straight tracks is
mm.

AISET a3l W, Wl a3 W T 99 & Feql & AT ogoldd gl

s g

[Question ID = 483][Question Description = Q73_AEN_PA_NAIRAUG4]
" 4265

[Option ID = 1926]
2 4425

[Option ID = 1928]
> 4695

[Option ID = 1930]
4 5300

[Option ID = 1932]

Correct Answer :-

* 4265

[Option ID = 1926]



74) Maximum horizontal distance from centre of track to face of passenger

platform coping shall be mm.

oIy Feg; AT TolCHE T HST F BF @ AfuEae ffas gl
e e

[Question ID = 484][Question Description = Q74_AEN_PA_NAIRAUG4]
1780
[Option ID = 1933]
21700
[Option ID = 1935]
> 1680
[Option ID = 1937]
“ 1750

[Option ID = 1939]

Correct Answer :-

* 1680

[Option ID = 1937]

Which of the following parameter is not directly measured by Track
Recording Car, but calculated from some other measured values:

fArafaiea & ¥ #id a1 WX ¢ R FR g@nmn @Y 760 AT
ST &, Afhel F& 3T AT AT AR F IHRT 07T HT AT &

[Question ID = 487][Question Description = Q75_AEN_PA_NAIRAUG4]
" Vertical acceleration / 3aTex cavoT
[Option ID = 1942]
> Unevenness / 3dHAT
[Option ID = 1944]
* Alignment / TY&foT
[Option ID = 1946]
“ Twist / eflaTe
[Option ID = 1948]
Correct Answer :-

* Twist / EaEe

[Option ID = 1948]



76) Based on TRC and OMS recording results, the Urgent Maintenance Limit

(UML) for Peak Vertical Acceleration, for speeds above 110 kmph and upto
130 kmph, is :

Sra a3 st TA.TE. feitser oRomAt & e 9T, 110 T ufe
g ¥ Jf9F 3T 130 F v g g & afd & [w, oY 3wy
0T & v achTe sreReror @A (FUATE) &

[Question ID = 488][Question Description = Q76_AEN_PA_NAIRAUG4]
- 0.259/0.25 ST

[Option ID = 1949]

> 0.20g/0.20 =i
[Option ID = 1951]

3 0159g/0.15 ST
[Option ID = 1953]

4+ 030g/0.30 &
[Option ID = 1955]

Correct Answer :-

* 025g/0.25 3

[Option ID = 1949]

The life of Detonators can be extended from 5 years to 8 years, on a
basis, subject to testing as per the stipulated procedure.

verar ferrer T sae safe R R, e ufter & sgar
q&TOT & YR 9Y, 5 99 ¥ 8 a¥ o Fols o "l o |

[Question ID = 491][Question Description = Q77_AEN_PA_NAIRAUG4]
- 3 monthly / 3 ATAF
[Option ID = 1958]

2 6 monthly / 6 AT S

[Option ID = 1960]
> Yearly / aifé=

[Option ID = 1962]

4 One time / T 9
[Option ID = 1964]

Correct Answer :-

* Yearly / il

[Option ID = 1962]



78) What is the minimum level of functionary authorised to issue Competency
Certificate to Motor Trolley Driver for using Motor Trolley:

HITT TTell T 3TN FlA & [T AT STl ATeleh I FETAIT THATOT I
AR F & oI iftgd HTURRT & wgadd T F47 ¢

[Question ID = 492][Question Description = Q78_AEN_PA_NAIRAUG4]
- SSE/P.Way (in-charge) / TE.TH.3. A9 (THT THR))
[Option ID = 1965]
> ADEN /T3
[Option ID = 1967]
3 Sr.DEN / €I 3.3.04.
[Option ID = 1969]
4 Sr.DSO / Hifaax srug.a.
[Option ID = 1971]

Correct Answer :-

* ADEN /T sus.

[Option ID = 1967]

79) Maintenance of the level crossings located within the outermost stop
signals is done by:

Tad 9 9 A F Nav g gaur west fr S FEe
ganT & AT & ?

[Question ID = 495][Question Description = Q79_AEN_PA_NAIRAUG4]

- Engineering Department / ST Nar f&sImeT

[Option ID = 1973]

2 Safety Department / GI&Tr farstmar
[Option ID = 1976]

3 Commercial Department / aifolieas FameT
[Option ID = 1977]

“ QOperating Department / GR=Tel- fsmer
[Option ID = 1979]

Correct Answer :-

* Engineering Department / ST Ner f&sImer

[Option ID = 1973]



80)  Maximum temperature of air inside tunnels needs to be limited to 0c,

considering passengers and workmen comfort.

mﬁﬁﬁaﬁaﬁﬁgﬁwﬁ&‘@ﬁ@gﬁﬁ%aﬁammaﬁm
d9Ha _ "HiRiE d% diffAd g aifge |

[Question ID = 496][Question Description = Q80_AEN_PA_NAIRAUG4]

" 40

[Option ID = 1981]
2. 50

[Option ID = 1983]
3. 45

[Option ID = 1985]
4. 60

[Option ID = 1987]
Correct Answer :-
* 50

[Option ID = 1983]

81) Each Cutting should be inspected by the ADEN

U FHica &l fAUE0r TS UA. g@nr forar e =nfew |

[Question ID = 499][Question Description = Q81_AEN_PA_NAIRAUG4]
© After monsoon once a year / ATAGA & &€ a9 H T&H a0

[Option ID = 1990]
2. Anytime in a year / U a5 & Hsfr off s I

[Option ID = 1992]
3 Once every 2 years /8T 2 g8 # U&h aR

[Option ID = 1994]

* Before onset of rains once a year / 9T ¥ & ¥ Ugal a9 H TH X

[Option ID = 1996]

1

Correct Answer :-

* Before onset of rains once a year / a7 ¥ &l ¥ 98l a9 H T&H a)

[Option ID = 1996]

Which of the following tamping machine has satellite unit:

farafafea # ¥ forg e mefie & dcamse g & &

[Question ID = 500][Question Description = Q82_AEN_PA_NAIRAUG4]
" 08-32 DUOMATIC / 08-32 g3itHfes



[Option ID = 1997]

2 09-275 UNIMAT / 09-275 Jfede
[Option ID = 1999]

* 09-32 CSM/ 09-32 H.UH.TH.
[Option ID = 2001]

“ VPR-02M / @r.9r.37¥.-02 TA.
[Option ID = 2003]

Correct Answer :-

* 09-32 CSM/09-32 H.UH.TA.

[Option ID = 2001]

83)  Minimum clean ballast cushion required for quality output from tamping
machine is
&R Hefter @ FqurEaTquT SediesA & v, gAaA rawo Fed

T HT HETF ¢ |
[Question ID = 503][Question Description = Q83_AEN_PA_NAIRAUG4]

- 150 mm/ 150 .=,
[Option ID = 2006]

2. 200 mm /200 &
[Option ID = 2008]

> 250 mm /250 TA.AY.
[Option ID = 2010]

“ 100 mm/ 100 .7

[Option ID = 2012]
Correct Answer :-

* 150 mm/ 150 &

[Option ID = 2006]

Lifting of track up to in one pass can be done by Ballast Cleaning
Machines presently available on Indian Railways:

FRA I W 3§ AT 3UAeY SokC Folled AAA canT vF 9H H
TSI &l deh 35191 ST Ghdl & |

[Question ID = 505][Question Description = Q84_AEN_PA_NAIRAUG4]
- 50 mm /50 ..
[Option ID = 2014]

2. 150 mm/ 150 =&

[Option ID = 2016]




3 100 mm /100 &=
[Option ID = 2018]
4 200 mm /200 &=

[Option ID = 2020]

Correct Answer :-

* 100 mm/ 100 &,

[Option ID = 2018]

8) The gauge of Auxiliary Track in track relaying by PQRS machine is :

NFGINTH. AMa g ¢ Refder & siifFafoed && & 9=
_®

[Question ID = 506][Question Description = Q85_AEN_PA_NAIRAUG4]
" 3100 mm/ 3100 f&.#t.

[Option ID = 2021]

23200 mm / 3200 AL
[Option ID = 2023]

3300 mm /3300 fA#.

[Option ID = 2025]
“ 3400 mm / 3400 AT

[Option ID = 2027]

Correct Answer :-

* 3400 mm / 3400 f& AT

[Option ID = 2027]

Topic:- AEN_PB_NAIRAUG4

Y Who is the author of Kumarsambhava ?

TARHAT & TR Hid § ?
[Question ID = 684][Question Description = Q01_AEN_PB_NAIRAUG4]
- Panini / 9foT=t
[Option ID = 2733]

2 Kalhana / segoT

[Option ID = 2734]
3 Kalidas / smifererd

[Option ID = 2735]

“ Jaideva /| STcd

[Option ID = 2736]



Correct Answer :-

* Kalidas / Frfergra

[Option ID = 2735]

Who was the president of constituent assembly of India which drafted
constitution?

HRT T WA T F 3egeT Fia o, Swa gfdus & #@dter a9x &
oqr ?
[Question ID = 685][Question Description = Q02_AEN_PB_NAIRAUGA]
" Shri V. K. Krishna Menon / 3. &. 0T Adel
[Option ID = 2737]
2 Dr. Rajendra Prasad / 3. T<ig WHIG
[Option ID = 2738]
3. Dr. Bhim Rao Ambedkar / 3T. #f/| T9 37€sHT
[Option ID = 2739]
* shri H.C. Mukherjee / #if T=. 1. HEi
[Option ID = 2740]
Correct Answer :-

* Dr. Rajendra Prasad / 3. q=ig WdTE

[Option ID = 2738]

Firozabad City was built by

[EEICICERTE GaART FATAT aTAT AT |

[Question ID = 686][Question Description = Q03_AEN_PB_NAIRAUG4]
' Mamluk Dynasty / HTH I=Taer
[Option ID = 2741]
2 Khilji Dynasty / T@er=ir Ir=iaer
[Option ID = 2742]
3 Lodhi Dynasty / ireft Trerger
[Option ID = 2743]
* Tughlaq Dynasty / JaTereh Trstaer
[Option ID = 2744]
Correct Answer :-

* Tughlaq Dynasty / JaTereh T=Taer



[Option ID = 2744]

Harappa village is located in

g3oar i AR
[Question ID = 687][Question Description = Q04_AEN_PB_NAIRAUG4]

" Pakistan / aTferedTa
[Option ID = 2745]
2 India / §RT
[Option ID = 2746]
3 Afghanistan / 3TweTTaEd=
[Option ID = 2747]
4 lran | =TT
[Option ID = 2748]
Correct Answer :-

Pakistan / arferegr

[Option ID = 2745]

Who painted the Mona Lisa ?

AT & o ”[ET R ar ?
[Question ID = 688][Question Description = Q05_AEN_PB_NAIRAUG4]

. Michelangelo di Lodovico / ATS&hal Tadl 2 Slgiaehr
[Option ID = 2749]
2. Artemisia Gentileschi / 3¢TATEAT JAfeeehr

[Option ID = 2750]

3. Euphranor / g«

[Option ID = 2751]
4+ Leonardo da Vinci / foramarsf g1 f&=h

[Option ID = 2752]

Correct Answer :-
* Leonardo da Vinci / foraarst g7 f&=h

[Option ID = 2752]

®) Nalanda University was established during the

CICARERCIE LRI D) & e waifte foam amm o |



[Question ID = 689][Question Description = Q06_AEN_PB_NAIRAUG4]
' Magadh Empire / #3T¢] A1HETSH

[Option ID = 2753]
* Gupta Empire / 3[cdl HTHTSH

[Option ID = 2754]

3+ Pala Empire / 9Tl ATHTTT
[Option ID = 2755]

4. Chola Empire / OfeT ®THSH
[Option ID = 2756]

Correct Answer :-

* Gupta Empire / 3[cdl H1HTSH

[Option ID = 2754]

) Goa gained independence in the year

aar o 9w H TaddT ueg & |

[Question ID = 690][Question Description = Q07_AEN_PB_NAIRAUG4]
1947
[Option ID = 2757]
> 1950
[Option ID = 2758]
> 1961
[Option ID = 2759]
4 1966
[Option ID = 2760]

Correct Answer :-

* 1961

[Option ID = 2759]

The early classical Tamil literature, the Sangams, is believed to be

e oreAT affe mifgey, T, AT ST & |

[Question ID = 691][Question Description = Q08_AEN_PB_NAIRAUG4]
- 500 - 1000 years old / 500 - 1000 ay =T

[Option ID = 2761]

2 800 - 1300 years old / 800 - 1300 ay =T
[Option ID = 2762]

3 1500 - 2000 years old / 1500 - 2000 a¥ =T



[Option ID = 2763]

* Over 2500 years old / 2500 a¥ & 31f& Q=T
[Option ID = 2764]

Correct Answer :-

* 1500 - 2000 years old / 1500 - 2000 a¥ qT=AT

[Option ID = 2763]

Mohenjo-Daro is related to

AlgTAGs! o wefa g |

[Question ID = 692][Question Description = Q09_AEN_PB_NAIRAUGA4]
- Egypt civilization / AT ws=Tar
[Option ID = 2765]
2. Sindhu Ghati Civilization / ﬁ?rtg =T 8T
[Option ID = 2766]
3 Mesopotamia Civilization / AEIETHIT T&=TT
[Option ID = 2767]
“ Vedic Civilization / 3few @s=ar
[Option ID = 2768]

Correct Answer :-
* Sindhu Ghati Civilization / fée] arér Hegar

[Option ID = 2766]

9" Which is the largest mammal in the world ?

e T g9® 997 TaAURT ST Sl ar g ?

[Question ID = 693][Question Description = Q10_AEN_PB_NAIRAUG4]

- Ostrich / XA

[Option ID = 2769]

2. African Elephant / 3rhTehT greft
[Option ID = 2770]

3 White Rhinoceros / @t%he =T

[Option ID = 2771]
4 Blue Whale / sol. 1=}
[Option ID = 2772]

Correct Answer :-



* Blue Whale / & &¢of

[Option ID = 2772]

Total length of Indian Coastline, including Andaman & Nicobar island and
Lakshadweep islands, is about

AR Fevar, o 3iEAe 3R Feer gdio 3t Jeedy ediT §Hg i
g N P SIS FE_ F

[Question ID = 694][Question Description = Q11_AEN_PB_NAIRAUG4]

" 7500 Km / 7500 f& T

[Option ID = 2773]

2 9800 Km / 9800 T #T.
[Option ID = 2774]

3 15200 Km / 15200 fo.#r.
[Option ID = 2775]

+ 5000 Km / 5000 f.5Y.
[Option ID = 2776]

Correct Answer :-

* 7500 Km /7500 f&=.AT.

[Option ID = 2773]

2) Which of the following is the wettest place in India ?

T AR T AR A Ted AR TIa ¢ ?

[Question ID = 695][Question Description = Q12_AEN_PB_NAIRAUG4]
. Mahabaleshwar / AgTgreay
[Option ID = 2777]
2 Cherrapunji / =TT
[Option ID = 2778]
> Mawsynram / S &a0H
[Option ID = 2779]
* Udhagamandalam / 3gatHSaH
[Option ID = 2780]
Correct Answer :-

* Mawsynram / Bifaa0H

[Option ID = 2779]



3} Which is the longest river in the world ?

fareg &7 Haw o FAEr BT W E ?

[Question ID = 696][Question Description = Q13_AEN_PB_NAIRAUG4]
' Amazon / 3¥AAA

[Option ID = 2781]
> Brahmaputra / §gH9a

[Option ID = 2782]
> Nile / airer

[Option ID = 2783]
“ Indus / Ty

[Option ID = 2784]

Correct Answer :-

* Nile / #rer

[Option ID = 2783]

) When was Vikramsamvat started ?

faeraAsae & geHTa Fe §§ off ?
[Question ID = 697][Question Description = Q14_AEN_PB_NAIRAUG4]
" 76 AD/76 3.
[Option ID = 2785]
* 57BC/57 59,
[Option ID = 2786]

> 76BC/76 3. T
[Option ID = 2787]

“ 57AD/57 s.
[Option ID = 2788]

Correct Answer :-

* 57BC/57 5.

[Option ID = 2786]

Our National animal is

FHANT TSE T |
[Question ID = 698][Question Description = Q15_AEN_PB_NAIRAUG4]

" Lion/2r

[Option ID = 2789]



2 Tiger / Erer
[Option ID = 2790]

> Panther / 2R
[Option ID = 2791]

* Cheetah / =rar
[Option ID = 2792]

Correct Answer :-

* Tiger/dmd

[Option ID = 2790]

6)  Kathakali is the dance form of which state ?

FHAFA! [ohd Ao & o &7 § ?
[Question ID = 699][Question Description = Q16_AEN_PB_NAIRAUG4]
I Karnataka / dics

[Option ID = 2793]

2 Kerala | &Tar

[Option ID = 2794]

3 Telangana | JeTeTAT
[Option ID = 2795]

* Tamil Nadu / affe=rg
[Option ID = 2796]

Correct Answer :-

* Kerala / &l

[Option ID = 2794]

') The National emblem of India is adapted from

IR & TSET Udish o forar amar &
[Question ID = 700][Question Description = Q17_AEN_PB_NAIRAUG4]
"+ Ashoka pillar in Mehrauli / #gIlelr # 31ele T
[Option ID = 2797]
2. Ashoka pillar in Rajgir / T=eiT # 3720 &&
[Option ID = 2798]
> Ashoka pillar in Sarnath / =T # 31206 &
[Option ID = 2799]
4 Ashoka pillar in Gaya / /3T # 3720 TH
[Option ID = 2800]

Correct Answer :-



* Ashoka pillar in Sarnath / IRaTT # 3720& T

[Option ID = 2799]

Hindu Calendar is based on the following:

Rig, $oist eI W TR ¥

[Question ID = 701][Question Description = Q18_AEN_PB_NAIRAUG4]

" Lunar /9g
[Option ID = 2801]
2. Solar /8l

[Option ID = 2802]

3 Both Lunar and Solar / @g 3T @it At
[Option ID = 2803]

4 None of the given options / T a7 Seedl # T &I Far
[Option ID = 2804]

Correct Answer :- Deleted

19) Sushruta from ancient India was

T SRT F gHAT T |
[Question ID = 702][Question Description = Q19_AEN_PB_NAIRAUG4]
- A Philosopher / W& Zreifaes
[Option ID = 2805]
2 A Doctor / Te 3TeFex
[Option ID = 2806]

- ASaint/ T T

[Option ID = 2807]
“ A Political stalwart / TsF TSAATas f&arar

[Option ID = 2808]

3

Correct Answer :-

* A Doctor / T&F ZieeT

[Option ID = 2806]

200 The Hindu months are based on the movement of

fég #de Fr a1fa ov ameia &

[Question ID = 703][Question Description = Q20_AEN_PB_NAIRAUG4]
- Grahas / 3§



[Option ID = 2809]

2 Surya / &
[Option ID = 2810]

3 Nakshatra / A8
[Option ID = 2811]

4 Chandrma / Ig#HT
[Option ID = 2812]

Correct Answer :-

* Chandrma / IgAT

[Option ID = 2812]

21 The National flower of India is

X T TSE ol g |
[Question ID = 704][Question Description = Q21_AEN_PB_NAIRAUG4]
" Rose / [
[Option ID = 2813]
* Lotus / &
[Option ID = 2814]

> Jasmine / THWT

[Option ID = 2815]
“ Sunflower / TSTHET
[Option ID = 2816]

Correct Answer :-

* Lotus /&HET

[Option ID = 2814]

Taj Mahal is a type of

JISTHES UF U &l g |

[Question ID = 705][Question Description = Q22_AEN_PB_NAIRAUG4]
" Palace / 3
[Option ID = 2817]
> Mausoleum / A&sT
[Option ID = 2818]
> Fort / frer
[Option ID = 2819]
“ Royal Court / eT@T &1

[Option ID = 2820]



Correct Answer :-

Mausoleum / Hehall
[Option ID = 2818]

The Panchatantra, an ancient Indian collection of stories, is written by

FETl T T Ui ARAT TG, Taad, ganT for@r T 7 |

[Question ID = 706][Question Description = Q23_AEN_PB_NAIRAUG4]

- Vishnu Sharma / fasu] erAT
[Option ID = 2821]
2. Shivanand Shastry / Rrarde emeT
[Option ID = 2822]
3 Pankaj Tripathy / 9t T3OTET
[Option ID = 2823]
* Harsha Vardhana / 89 a4«
[Option ID = 2824]

Correct Answer :-
* Vishnu Sharma / fso] et

[Option ID = 2821]

24} \Which country is known as the “Land of the Rising Sun” ?

e &er @1 "39a {qIS HT HA" F T H A A ¢ ?

[Question ID = 707][Question Description = Q24_AEN_PB_NAIRAUG4]

' Thailand / aTSai3

[Option ID = 2825]
> Japan | ST9TeT
[Option ID = 2826]

3 Norway / ATd

[Option ID = 2827]

4 Sweden / &&IEA
[Option ID = 2828]

Correct Answer :-

Japan /| JT91d

[Option ID = 2826]



25 \Who is the author of Ain-I-Akbari ?

HTSA-T-37Fad & of@Hh HieT & ?
[Question ID = 708][Question Description = Q25_AEN_PB_NAIRAUGA4]
" Abul Fazl / 31gaT HaTet
[Option ID = 2829]
% Abdul Qadir Badayuni / 3/sgel HI1feT FeTeir
[Option ID = 2830]
* Muhammad Tahir / Hg=Ag arfet
[Option ID = 2831]
* Abdul Hamid Lahori / a/egel gHie IR
[Option ID = 2832]
Correct Answer :-

¢ Abul Fazl faig?{ B

[Option ID = 2829]

Which is the largest desert in India ?

AT T Ha =1 e fiTg ar g ?

[Question ID = 709][Question Description = Q26_AEN_PB_NAIRAUG4]

- Sahara | R
[Option ID = 2833]

> Thar/ 9
[Option ID = 2834]

> Rann of Kutch / =& &T 0T
[Option ID = 2835]

* Nubra Valley / &7 =TeTr
[Option ID = 2836]

Correct Answer :-

Thar / 9

[Option ID = 2834]

27)

What is the name of India’s first indigenous aircraft carrier ?

AT F Ugd Facefy SATHaES Uig &1 ATH F47 & ?

[Question ID = 710][Question Description = Q27_AEN_PB_NAIRAUG4]



" INS Vikrant / 33.va.vq. fOwig
[Option ID = 2837]
2. INS Vikramaditya / 3T Ua.TH. AEFATRE

[Option ID = 2838]

INS Arihant / 38 T.TH. 3Ed

[Option ID = 2839]
4 INS Chakra /| #TS.U#.TH. T

[Option ID = 2840]

w

Correct Answer :-

* INS Vikrant / 33.va1.vH. S%ig

[Option ID = 2837]

What is the currency of Sweden ?

TS @ HET FAT 7 ?
[Question ID = 711][Question Description = Q28_AEN_PB_NAIRAUG4]
" Yuan / g3
[Option ID = 2841]

2. Euro/ Iltg’r

[Option ID = 2842]

3 Krona / ST
[Option ID = 2843]

4 Baht/sgd
[Option ID = 2844]

Correct Answer :-

* Krona / sar

[Option ID = 2843]

What is the highest mountain peak in India, excluding Pakistan Occupied
Kashmir ?

T FfUSd FN $T OIFH, ARG H TIE SO 99T T B & §
?

[Question ID = 712][Question Description = Q29_AEN_PB_NAIRAUG4]

L K2/ %2

[Option ID = 2845]
2. Kanchenjunga / shadel=191m

[Option ID = 2846]



3 Mount Everest / AT3E TaiEe
[Option ID = 2847]

* Nanda Devi / FieT dar
[Option ID = 2848]

Correct Answer :-

* Kanchenjunga / &aet=iam

[Option ID = 2846]

The Ambubachi Mela is held in the state of

JFgaTET Hell ToT H T §

[Question ID = 713][Question Description = Q30_AEN_PB_NAIRAUG4]
- Nagaland | AT =
[Option ID = 2849]
2 \West Bengal / af®aH Famer
[Option ID = 2850]
> Odisha / 3nf3am
[Option ID = 2851]
4 Assam | {¥TH
[Option ID = 2852]
Correct Answer :-

* Assam/ 3TH

[Option ID = 2852]

3" The award conferred in our country by the Government for most conspicuous

bravery or some act of daring or pre-eminent act of valour or self-sacrifice, away
from the battlefield, is :

FAR U # W@N GaNT, JeU & Haw & gy, "ed fafdne @@gl ar s
a7 AT A HeHA-afoe & el F1F & fore vee R S arer R ©

[Question ID = 714][Question Description = Q31_AEN_PB_NAIRAUG4]
- Vir Chakra [ 9 I%

[Option ID = 2853] .
2. Shaurya Chakra [ etar o
[Option ID = 2854]

3 Ashoka Chakra [ 3r2nes =sm

[Option ID = 2855]



*  Paramvir Chakra /| 93HdX s
[Option ID = 2856]

Correct Answer :-

* Ashoka Chakra [ 312l o

[Option ID = 2855]

32) Jnanpith Award is given for writing in languages in our country.

AANE [EFR FAR ¢ H st F Ea & O far s &

[Question ID = 715][Question Description = Q32_AEN_PB_NAIRAUG4]
1. 20

[Option ID = 2857]
2. 22

[Option ID = 2858]
3. 24

[Option ID = 2859]
4 og

[Option ID = 2860]

Correct Answer :- Deleted

Which gas do plants absorb during photosynthesis ?

RISl HLWUT & Rt oY Hid o g s@fRg g 2

[Question ID = 716][Question Description = Q33_AEN_PB_NAIRAUG4]

- Nitrogen / srSersia

[Option ID = 2861]

2. Carbon dioxide / e SIEZHTFATSS

[Option ID = 2862]
> Oxygen / 3ATFETST
[Option ID = 2863]
+ Methane / #rda
[Option ID = 2864]

Correct Answer :-
* Carbon dioxide / FTeel SE3AFASS

[Option ID = 2862]



> Which country is known as the “Land of the Midnight Sun™ ?

o Ser &1 el U & A R F T A AT 1 § 2

[Question ID = 717][Question Description = Q34_AEN_PB_NAIRAUG4]

- Norway / ad
[Option ID = 2865]
2 Finland / freelT

[Option ID = 2866]

3 France [ wig
[Option ID = 2867]

4 South Korea / gf&ior shifar
[Option ID = 2868]

Correct Answer :-

* Norway / a1d

[Option ID = 2865]

What is the name of the smallest planet in the solar system ?

AAST & §99 BIC g & 17 1 ¢ ?

[Question ID = 718][Question Description = Q35_AEN_PB_NAIRAUG4]
- Venus | g

[Option ID = 2869]

2 Mars | #IF
[Option ID = 2870]

* Mercury | g1
[Option ID = 2871]

“ Neptune | T=gst
[Option ID = 2872]

Correct Answer :-

* Mercury / g

[Option ID = 2871]

What is the percentage of Carbon dioxide in atmosphere ?

AIgASA H Fead SBHFASS H gided Fdar g 2

[Question ID = 719][Question Description = Q36_AEN_PB_NAIRAUG4]
- 20%

[Option ID = 2873]



2 0.4%
[Option ID = 2874]
3 9%
[Option ID = 2875]
* 0.04%
[Option ID = 2876]
Correct Answer :-
* 0.04%

[Option ID = 2876]

") What is the name of the smallest country in the world by area ?

8% $T gitc ¥ 999 & TaY OIS G20 &l oA F41 ¢ ?
[Question ID = 720][Question Description = Q37_AEN_PB_NAIRAUG4]
" Vatican City / afeasr f@er
[Option ID = 2877]

2. Ecuador / SEFaTET
[Option ID = 2878]

* Cuba / gar
[Option ID = 2879]

4 Norway / dTd
[Option ID = 2880]

Correct Answer :-

* Vatican City / afesar f&er

[Option ID = 2877]

Which river is known as the “Cradle of Civilization™ ?

oFg FET T "GEIAT FT ITTAT" Fel A aT & ?

[Question ID = 721][Question Description = Q38_AEN_PB_NAIRAUG4]
- Amazon river / 38l dar
[Option ID = 2881]
2 Tigris-Euphrates river / feRra-agwrea #dr
[Option ID = 2882]
> Nile river / #teT #er
[Option ID = 2883]

4 Indus river / ﬁ'ﬁg Gl

[Option ID = 2884]



Correct Answer :-
* Tigris-Euphrates river / feRra-gthed #cT

[Option ID = 2882]

Kaziranga national park is in

FTAIT TSET EATT qHE

[Question ID = 722][Question Description = Q39_AEN_PB_NAIRAUG4]

- Qdisha / 332

[Option ID = 2885]
2. Karnataka / &aTesH

[Option ID = 2886]

3. Madhya Pradesh / A& weem
[Option ID = 2887]

4 Assam / 3EH
[Option ID = 2888]

Correct Answer :-

* Assam/ 3HH

[Option ID = 2888]

40) Aizawl is the capital of

TS Fr T T
[Question ID = 723][Question Description = Q40_AEN_PB_NAIRAUG4]

- Tripura / TI9qar

[Option ID = 2889]
2= Nagaland / AT
[Option ID = 2890]
3 Arunachal Pradesh / 3750T=el 9&2r
[Option ID = 2891]
* Mizoram / fA=IH
[Option ID = 2892]
Correct Answer :-

* Mizoram / &SR

[Option ID = 2892]



“D" Into how many Regions Indian states have been classified, according to Official

Languages Rules ?

T @l & IR, ARA Ul @ fhas & 7 gefiea G
T g ?
[Question ID = 724][Question Description = Q41_AEN_PB_NAIRAUG4]
1.
4
[Option ID = 2893]
2. 3
[Option ID = 2894]
3. 5
[Option ID = 2895]
4. 6
[Option ID = 2896]

Correct Answer :-

[Option ID = 2894]

When is “Hindi Day” celebrated every year ?

U Oy "@edr oaw" w9 HArm AT § ?
[Question ID = 725][Question Description = Q42_AEN_PB_NAIRAUG4]

- 14 Sept / 14 TOaFsT

[Option ID = 2897]

2 26 Oct/ 26 3eFge
[Option ID = 2898]

> 01May/01 #S
[Option ID = 2899]

4 12 June /12 S
[Option ID = 2900]

Correct Answer :-

* 14 Sept/ 14 fAgFR

[Option ID = 2897]



43 Dadar and Nagar Haveli comes under Region as per Official
Language Rules.

AT &

[Question ID = 726][Question Description = Q43_AEN_PB_NAIRAUG4]
" Al®

[Option ID = 2901]
2 Bl@

[Option ID = 2902]
S ClE

[Option ID = 2903]
“+D/H=

[Option ID = 2904]

Correct Answer :-
* B/™@

[Option ID = 2902]

44 The Central Hindi Committee comes under

e BEr afafa HATST & e 3T ¢ |
[Question ID = 727][Question Description = Q44_AEN_PB_NAIRAUG4]
- Ministry of Defence / T&T HATSIT

[Option ID = 2905]
2 Ministry of Home Affairs / 3[g HATer T

[Option ID = 2906]
* Ministry of Education / f1&Ir Harerr

[Option ID = 2907]
Ministry of Personnel, Public Grievances and Pensions /

4.
FITHF, oieh Rreag 3 SoeT #areT
[Option ID = 2908]

Correct Answer :-
* Ministry of Home Affairs / 3 HaTerI

[Option ID = 2906]



43) When was the Parliamentary Committee on Official Language constituted ?

TEE TSI HIATT &7 7164 e fohar am=m o ?
[Question ID = 728][Question Description = Q45_AEN_PB_NAIRAUG4]
- 1950

[Option ID = 2909]
> 1960

[Option ID = 2910]
3 1976

[Option ID = 2911]
+ 1979

[Option ID = 2912]
Correct Answer :-

* 1976

[Option ID = 2911]

46) Who is made as the Chairman of the Town Official Language Implementation
Committee constituted in major cities ?

UHE el H AfSd FIR USTHANT Frdleadsl HiATT T 3eger fFFg gam S
g ?

[Question ID = 729][Question Description = Q46_AEN_PB_NAIRAUG4]
- Mayor of the city / 2T@T & #HIT

[Option ID = 2913]

Member of Parliament of related constituency /
2

Fetg e 87 F g8 ey
[Option ID = 2914]
3. MLA of related constituency / @efeig f@arad &7 & uaes

[Option ID = 2915]

Senior most Central Govt. Officer of the City /
AT & ANTEIH Farg THR ATTHNT

[Option ID = 2916]

4.

Correct Answer :-

Senior most Central Govt. Officer of the City /
AR & INCEdH Farg FIHR ATSHNT

[Option ID = 2916]



4 \What are all the four Hindi courses, prescribed for Central Govt. employees ?

e TN & Faamal e Fuitg s a8 B easm Fia 7§ 2
[Question ID = 730][Question Description = Q47_AEN_PB_NAIRAUG4]
. YIS, U9, W 3T 99 / Prarambh, Pravesh, Pragya and Parangat

[Option ID = 2917]

2.y, 9dioT, W AT 9ET / Prabodh, Praveen, Pragya and Parangat
[Option ID = 2918]

> yder, udior, WA AT AT / Pravesh, Praveen, Prarambh and Pragya
[Option ID = 2919]

* gder, WA, Wi 3 waoT / Pravesh, Prarambh, Pragya and Praveen
[Option ID = 2920]

Correct Answer :-

* warer, wdoT, 9TA 33 9ETT / Prabodh, Praveen, Pragya and Parangat

[Option ID = 2918]

Which of the employees, with mother tongues as following, will belong to states
classified under Category "C ":

forafafea & & $ia @ Frgem arer A, Aol W & e Jefled
T=al ¥ garad ger

[Question ID = 731][Question Description = Q48_AEN_PB_NAIRAUG4]

- Marathi, Kannada, Bengali or Telugu / AITST, &eeds, S3Mell AT ?I?g?;r

[Option ID = 2921]

> Kannada, Guajarati, Oriya or Bengali / #e=13, T[=iral, 37331 41 Famrelr

[Option ID = 2922]

* Guajarati, Bengali, Oriya or Assamese / I[=RTdT, s@Tel, 33T a1 srwfaar
[Option ID = 2923]

+ Bengali, Oriya, Kannada or Assamese / d3TTell, 37341, Feais IT JAGAAT
[Option ID = 2924]

Correct Answer :-

* Bengali, Oriya, Kannada or Assamese / S3TTell, 31341, Feas IT JTHAT

[Option ID = 2924]



49 In which course, a Category "C" Central Government employee defined under
Hindi Teaching Scheme, is required to be trained ?

BEr fAretor Tisrar & 3iaeta, e ‘o Ault & Fg TFER & TH HAn
aI, 5T gomms & ufdfsa e S sraEs & 7

[Question ID = 732][Question Description = Q49_AEN_PB_NAIRAUG4]
" Prarambh / UI{#FT
[Option ID = 2925]

2 Pragya / 9=1T

[Option ID = 2926]

3 Prabodh / waTer
[Option ID = 2927]

“ Praveen / w@ror
[Option ID = 2928]

Correct Answer :-

* Praveen / W&ToT

[Option ID = 2928]

°0 What is the amount of Cash Award for passing “Prabodh” with 60% or more but
less than 70% of marks ?

‘e T 60% AT IHTUF Ak 70% F FHH IH & WY A0 FA W AFG
qOFER & TR 4T § 2
[Question ID = 733][Question Description = Q50_AEN_PB_NAIRAUG4]
' Rs.800/%. 800
[Option ID = 2929]
> Rs. 1200 /%. 1200
[Option ID = 2930]
> Rs.600/%. 600
[Option ID = 2931]
4 Rs. 1500 /%. 1500
[Option ID = 2932]
Correct Answer :-
* Rs. 800/%. 800

[Option ID = 2929]



> What is the name of the award given for writing original books in Hindi on

technical Railway subjects ?

m%mﬁwwﬁﬁﬁﬁﬁagmﬁ?ﬁmﬁ%ﬁwﬁcmaﬁ
YUERI & T ATH g ?
[Question ID = 734][Question Description = Q51_AEN_PB_NAIRAUG4]

' Ramdhari Singh Dinkar Puraskar / THUNT [ feaet qrenn

[Option ID = 2933]

2. Lal Bahadur Shastri Puraskar / &Tel SgIgl QITEAT JIEPR

[Option ID = 2934]

3. Maithili saran Gupta Puraskar / =T 2T I GUEPR
[Option ID = 2935]

“ Premchand Puraskar / Ya=g JI&AR
[Option ID = 2936]

Correct Answer :-

* Lal Bahadur Shastri Puraskar / |Tel CICA QITTAT JEERR

[Option ID = 2934]

°2) \What is the amount of prize money given under Rajbhasha Individual Cash
Award Scheme ?

TAATST SATFAeTd Aohe RERN 1Al & A & A arell qIERR 1R
forerett & 2

[Question ID = 735][Question Description = Q52_AEN_PB_NAIRAUG4]
' Rs. 2000/ ®. 2000

[Option ID = 2937]

2 Rs. 2500 / & 2500
[Option ID = 2938]

> Rs.3500/%. 3500
[Option ID = 2939]

4 Rs.3000/%. 3000
[Option ID = 2940]

Correct Answer :-

* Rs.3000/%. 3000

[Option ID = 2940]



>3 What is the target fixed for issuing both in English and Hindi, the documents

coming under Section 3(3) of Official Language Act ?

TSt JfAfEe @ 9wr 3(3) % 3aEa 3 gt gEaEel S 3EET 3T
f&Er axat et & Sl R @ Tew Fr FuiRe T e & 2

[Question ID = 736][Question Description = Q53_AEN_PB_NAIRAUG4]

- 50%

[Option ID = 2941]
2. 80%

[Option ID = 2942]
3. 100%

[Option ID = 2943]
“70%

[Option ID = 2944]
Correct Answer :-
* 100%

[Option ID = 2943]

%) When is the ‘World Hindi Day’ observed ?

'eT S Gaw s AT JaT € ?

[Question ID = 737][Question Description = Q54_AEN_PB_NAIRAUG4]
" 10" June / 10 S

[Option ID = 2945]

10" Jan / 10 SeTadr
[Option ID = 2946]

10" July / 10 SIS
[Option ID = 2947]

4 10" Oct / 10 3R
[Option ID = 2948]

Correct Answer :-

* 10" Jan /10 =4y

[Option ID = 2946]



>?) What is the additional weightage given to a Non-Hindi speaking employee for

assessing awards under 10,000 words Award Scheme ?

10,000 oreg] 1 WEFR Al & ded [WERRI & Hedisd & fov -
AT AN @ fhder wfaRea dee Gar sar € 2
[Question ID = 738][Question Description = Q55_AEN_PB_NAIRAUG4]
10%
[Option ID = 2949]
2 20%
[Option ID = 2950]
3 25%
[Option ID = 2951]
* 30%
[Option ID = 2952]
Correct Answer :-
* 20%

[Option ID = 2950]

Topic:- AEN_PC_NAIRAUG4

D" Normal time frame for disposal of RTI request is maximum.

HWURUTT: SFAgae HUHR [T & Wues & o a6y d@ar sdfesad
—

[Question ID = 824][Question Description = Q01_AEN_PC_NAIRAUG4]

' 30days /30 &
[Option ID = 3293]

2. 35 days / 35 fea1
[Option ID = 3294]

> 40 days /40 &
[Option ID = 3295]

“ 45days / 45 feo
[Option ID = 3296]

Correct Answer :-

* 30days/30 &a

[Option ID = 3293]



2 cannot be combined with any other kind of leave, but it can be followed

by the Quarantine leave:

FI TFET 37T YR & IIFIT & GTY Ael AIST AT FHdT g, oifdhed
SHS 9 FANCISA IGH AT AT Fhal £ |

[Question ID = 825][Question Description = Q02_AEN_PC_NAIRAUG4]
" Leave on Average Pay / 3iHa 39 araemrer
[Option ID = 3297]
2. Casual leave / 3T TEHF 3T
[Option ID = 3298]
Extra Ordinary Leave / 3[ATIRUT 3{g=h1el
[Option ID = 3299]

4 Leave on Half Average Pay / 31T 3it8@a a9 37arer

[Option ID = 3300]

3.

Correct Answer :-

* Casual leave /| ¥THEHF T

[Option ID = 3298]

Leave account of Group “A” and Group “B” Railway servants is maintained by:

THE T AR Tg " {ord HAANGT H FEHIT T ganT I&m
Eicut

[Question ID = 826][Question Description = Q03_AEN_PC_NAIRAUG4]

- Personnel Officer / #fAs 31Termer
[Option ID = 3301]

2 Head of Office / #ATera W@
[Option ID = 3302]

* Accounts Officer / oi@T 3f&IT
[Option ID = 3303]

* Officer nominated by Head of Office / FaTerd WHE gaRT AfAa AfE=HNT
[Option ID = 3304]

Correct Answer :-

* Accounts Officer / a@T FTerarr

[Option ID = 3303]



Y The admissible Joining Time in cases of transfer from one station to another
having distance of more than 1000 kms but less than 2000 kms, and also
involving change of residence, is:

1000 feltetey & a1fos afdar 2000 Frartey & &7 gt o v R ¥
GEY FAT T TIAGOT & A #, 3R aw aRads s aifde 89 w,
e FaEET g g g |

[Question ID = 827][Question Description = Q04_AEN_PC_NAIRAUG4]
- 8days/8 &
[Option ID = 3305]
2 10 days/ 10 &=
[Option ID = 3306]
3 12 days /12 fe=
[Option ID = 3307]
* 15days / 15 fe=
[Option ID = 3308]
Correct Answer :-

* 12days /12 &

[Option ID = 3307]

®) During the period of suspension, a Railway servant is getting Subsistence
Allowance equal to 50% of his Basic Pay. The Railway servant will be entitled
to Dearness Allowance equal to of normal Dearness Allowance.

Troea & 3afY & eha, v 9 FHURT 30 B ddd & 50 ¥ o avEw
T 99T UTH Y @ & | I 9 hEE THET AOS99 &
& T ALAS A & gha” @l |

[Question ID = 828][Question Description = Q05_AEN_PC_NAIRAUG4]
100 %
[Option ID = 3309]
> 75%
[Option ID = 3310]
> 60%
[Option ID = 3311]
* 50 %
[Option ID = 3312]

Correct Answer :-



* 50 %

[Option ID = 3312]

The rate of Travelling Allowance (as Daily Allowance), admissible to officers of
Level 14 and above in 7" CPC, is presently:

7 § @rOvEr & o9d 14 3R 389 I & e & v e
7 Efas o F v A) Fr g gaEa A -l

[Question ID = 829][Question Description = Q06_AEN_PC_NAIRAUG4]
- Rs. 1000/ %. 1000
[Option ID = 3313]
2 Rs. 1500 /¥. 1500
[Option ID = 3314]
> Rs. 1200/ %. 1200

[Option ID = 3315]

4+ Rs.1800/%. 1800
[Option ID = 3316]

Correct Answer :-
* Rs. 1500 /%. 1500

[Option ID = 3314]

Which of the following is not a National Holiday for Central Government offices:

AT # ¥ Fi7 O Fg TWFER & FEAEAT & o0 ST JATHer 787 &

[Question ID = 830][Question Description = Q07_AEN_PC_NAIRAUG4]

" Dr.B. R. Ambedkar’s Birthday / ST. &Y. 31T, 37FaS&{ &7 AT
[Option ID = 3317]
2. Republic Day / IoTas feaw
[Option ID = 3318]
3. Independence Day / Taa3ar fgag
[Option ID = 3319]
4 Mahatma Gandhi's Birthday / #greaT It &7 JeAcd
[Option ID = 3320]

Correct Answer :-
* Dr.B. R. Ambedkar's Birthday / Sf. &Y. 37IT. 3743 &7 SeAGT

[Option ID = 3317]



¥ The meetings of Permanent Negotiating Machinery (PNM) with the recognised
Unions should be held at least once in months, at the Divisional level.

B TR W, AEIA UH Fdal & T AR denraucer  #efedr
(dr.oa.vH.) H 45F A  FA FEA H T a” HHTord i el

e |
[Question ID = 831][Question Description = Q08_AEN_PC_NAIRAUG4]
' Four /9

[Option ID = 3321]
2 Three / 1=
[Option ID = 3322]
> Two /gar
[Option ID = 3323]
* One / T&H
[Option ID = 3324]
Correct Answer :-

* Two/ar

[Option ID = 3323]

The present maximum limit of Death-cum-Retirement Gratuity for Central
Government employee is

g WHFR F FAGN & A0 Fg-wg-variaghy =& i aqq= sfsan
drar g |

[Question ID = 832][Question Description = Q09_AEN_PC_NAIRAUG4]
' Rs. 10 Lakh /. 10 =m&@

[Option ID = 3325]
> Rs.25Lakh/%. 25 &m@

[Option ID = 3326]

3 Rs. 15 Lakh /¥. 15 sm@
[Option ID = 3327]

4 Rs. 20 Lakh / & 20 =M@
[Option ID = 3328]

Correct Answer :-

* Rs.25Lakh/®. 25 oi@

[Option ID = 3326]



10 If a Railway employee does not insure a house built by taking House Building
Advance, till full recovery of the advance with interest thereon:

Ifg #1% Wd FAgRT JAFa AJEE FAr (vode) Je 9 AT gy
A TR TUT 3§ W A & WY QU GG oIl 76T 8o odeb, dIAT Tl Ll
g an

[Question ID = 833][Question Description = Q10_AEN_PC_NAIRAUG4]
Penal interest of 2% over and above the existing rate of interest will be levied /

1.
=aTeT T AlSEr & ¥ AHfUE 2% = €3 T=EE9 ST S

[Option ID = 3329]
, The advance amount given will be withdrawn /

& S 3w ufY aw o & ST

[Option ID = 3330]
Penal interest of 3% over and above the existing rate of interest will be levied /

3.
ST T Allar X ¥ JWE 3% =S & TIET AT FATTA

[Option ID = 3331]
Disciplinary action will be taken against the employee /

 wHT ¥ TS AR FIaS @ S
[Option ID = 3332]

Correct Answer :-

Penal interest of 2% over and above the existing rate of interest will be levied /

=T #Hit AlSeT o ¥ HfAE 2% A &3 TG oA S

[Option ID = 3329]

") Reimbursement of Children Education Allowance (CEA) for Divyang children is
more than the normal rates of CEA.

ezt a=at & for arer Rer s @dv) & ufogla, dse & =g
CRU:| #Aw E |

[Question ID = 834][Question Description = Q11_AEN_PC_NAIRAUGA4]
" 50 %
[Option ID = 3333]
2 75%
[Option ID = 3334]
3 25%
[Option ID = 3335]

* 100 %

[Option ID = 3336]




Correct Answer :-
* 100 %

[Option ID = 3336]

12) Quantum of additional pension payable to the old pensioners of the age more
than 100 years is of the normal pension amount.

100 a9 ¥ 3fF Y & gg RFATTE & g7 3T GF Hr FAH T

U TRy e e |

[Question ID = 835][Question Description = Q12_AEN_PC_NAIRAUG4]
" 40 %

[Option ID = 3337]
> 30 %

[Option ID = 3338]
3100 %

[Option ID = 3339]
* 50 %

[Option ID = 3340]
Correct Answer :-
* 100 %

[Option ID = 3339]

Which of the following activity will not amount to violation of the Railway Services
(Conduct) Rules-1966, by a Gazetted Railway Officer:

fArafafaag # @ ola @ 7™ e geufEa wa 3ReE grr 39d d@ar
(3TTEROT) ATH -1966 T Sooibed ol @i

[Question ID = 836][Question Description = Q13_AEN_PC_NAIRAUG4]
Not ensuring integrity and devotion to duty of all Railway servant working under
his control and authority /

" sroe frdeur 3k TSGR F ded o o are w19 da@t dr e ik
T AT Fel Hem

[Option ID = 3341]
Being associated with any organization which takes part in politics /

'mﬁ%ﬁmaﬂmﬁﬁmsﬂ&mdﬁ@am

[Option ID = 3342]
Working as office bearer of any association of non-gazetted Railway servants /

| ISR o daet & el 9 & erRed & &7 3§ o o

[Option ID = 3343]




4. Wearing of plain black badges at work /TH UT T ol &= Tgaelr
[Option ID = 3344]

Correct Answer :-

* Wearing of plain black badges at work /@TH U IS HIo & UgaaT

[Option ID = 3344]

A Railway servant is deemed to have been placed under suspension, if he is
detained in custody on criminal or other charges, for a period exceeding

e T To7 AT o TS a1 e Iar & T s 3Et
& forr Ruma & @ aar & O 38 Sefed o I o= #@em S §

[Question ID = 837][Question Description = Q14_AEN_PC_NAIRAUG4]

- 24 Hours / 24 ©¢
[Option ID = 3345]

2 48 Hours / 48 ©¢
[Option ID = 3346]

3. 72 Hours / 72 ©¢
[Option ID = 3347]

“ 96 Hours / 96 ¢
[Option ID = 3348]

Correct Answer :-

* 48 Hours / 48 ©¢

[Option ID = 3346]

In a case of a Minor Penalty charge sheet also, an inquiry is required to be held
before imposing the punishment, if the penalty proposed:

oY e & WY UF o T A A 1, €3 & W Ugel Soardral del
TIIHAT BT &, IfE uraifaa &3 |

[Question ID = 838][Question Description = Q15_AEN_PC_NAIRAUG4]
Is not accepted by the employee /

| e gary eheR aE R s

[Option ID = 3349]
Is likely to adversely affect the pension of the employee |

2.
& &N B e W Wit e Us @i Heae §

[Option ID = 3350]
Is for withholding increments of pay for a period of three years J

3.
AT a8 6 3ER F v dad ¥ shwdiey 06 & fa i

[Option ID = 3351]



Is for recovery of any amount from his pay /

" s wr o Rt o R B e & foe B
[Option ID = 3352]

Correct Answer :-

Iz likely to adversely affect the pension of the employee |
& FHANT & Y W Uicihel GHIG U5 T WA §

[Option ID = 3350]

'©) Which one of the following is not considered a “family member” as per the
Railway Servants (Pass) Rules:

o was (arw) FEE & dgeR, et # @ e uiar @ e

el HAAT T 8
[Question ID = 839][Question Description = Q16_AEN_PC_NAIRAUG4]

- Working Spouse / ShrH®GT= Ui a1 gat
[Option ID = 3353]
Unmarried but working Daughter of age 24 years /

| 24 T 3H T e oifche HIHABIAT AT

[Option ID = 3354]

N Son of age 25 years studying in recognised educational institute /
AreTar utE AT TEATT A Ug T@T 25 TIA 3H @ el
[Option ID = 3355]

4 Working Son of age 19 years / 19 TTl 3H @ HIADIST del
[Option ID = 3356]

Correct Answer :-

* Working Son of age 19 years / 19 &I 3H @1 dIHGIST deT

[Option ID = 3356]

') Which of the following activity of Group "C” staff of Indian Railway is presently
not being handled through HRMS software:

ARAT tod & @ "H daaal & Reafaiad # @ ailg @ aiafad
JaATET H UI.HR.UHA.UH. HFedIT & ATSTH H el o o7 & ¢ |

[Question ID = 840][Question Description = Q17_AEN_PC_NAIRAUG4]

' Leave sanction / §icel & FHell

[Option ID = 3357]
2. Issue of Passes and PTOs / & 3T W1.87.30. A &ar
[Option ID = 3358]

3. Claims of Travelling Allowance / JTaT {41 @& &<

[Option ID = 3359]



. Annual Performance Appraisal Report (APAR) /
ot wedld Feditd NOle (T..1.31X.)
[Option ID = 3360]

Correct Answer :-

* Claims of Travelling Allowance / IT=T 3T & &rd

[Option ID = 3359]

'8 The House Rent Allowance (HRA) admissible to a Railway employee residing in

“¥Y* Class City is presently of his Basic Pay.

"are" Avl & U H e Aol Tah od dHIn o or wie Jwre o

AT (TI.HR.T.) TOHH A 35S JA e BT %

[Question ID = 841][Question Description = Q18_AEN_PC_NAIRAUG4]
20 %

[Option ID = 3361]
> 18 %

[Option ID = 3362]
16 %

[Option ID = 3363]
24 %

[Option ID = 3364]
Correct Answer :-
* 20%

[Option ID = 3361]

%) Sanction of works under "works Programme" is processed through :

"I WA & ded @rar 6 Elipia & JAETH T WAy H
A

[Question ID = 842][Question Description = Q19_AEN_PC_NAIRAUG4]
. TMS / &1.uH.TH.
[Option ID = 3365]
2 IRPSM / 373 3710 TH. .
[Option ID = 3366]
3 IREPS / 3mg.3R.3.dr.og.
[Option ID = 3367]
“ HRMS / T9 {.UH.TH.
[Option ID = 3368]

Correct Answer :-

* IRPSM / 3715 3. 41.U@.UA.



[Option ID = 3366]

20) What is the full form of DRF :

SLHAR.UE. F QUI FT 4T &

[Question ID = 843][Question Description = Q20_AEN_PC_NAIRAUG4]
- Depreciation Revenue Fund / STITATE W=y %3

[Option ID = 3369]

2. Depreciation Reserve Fund / 3ffiwes fod &3
[Option ID = 3370]

3. Development Revenue Fund / 3aeigdic &g &5
[Option ID = 3371]

4+ Development Rail Fund / 3a«igdic I &3
[Option ID = 3372]

Correct Answer :-

* Depreciation Reserve Fund / 3o Rod &

[Option ID = 3370]

21) “Bridge Work” is chargeable in Plan Head:

P Ao es Ao fraraEr g |

[Question ID = 844][Question Description = Q21_AEN_PC_NAIRAUG4]
.30

[Option ID = 3373]
2. 31

[Option ID = 3374]
3. 32

[Option ID = 3375]
4. 33

[Option ID = 3376]
Correct Answer :-
* 32

[Option ID = 3375]

Who is the "Plan Head Coordinator” for “Traffic Facility” works ?

[Question ID = 845][Question Description = Q22_AEN_PC_NAIRAUG4]
- PCE/drdrs.

[Option ID = 3377]

2 PCOM / Ot &Y. 3. s,



[Option ID = 3378]

> PCCM / oy &r.&r.oH.
[Option ID = 3379]

4 PCPO / dr.®Y.dr.3m
[Option ID = 3380]

Correct Answer :-

* PCOM / UT.9T.37.TH.

[Option ID = 3378]

23) “Revenue” expenditure for “Maintenance of P. Way” is booked under Demand

Number

ST @ I

[Question ID = 846][Question Description = Q23_AEN_PC_NAIRAUG4]
1. 6

[Option ID = 3381]
2. 7

[Option ID = 3382]
3. 4

[Option ID = 3383]
4. 9

[Option ID = 3384]
Correct Answer :-
4

[Option ID = 3383]

24) Purpose of taking “Bid Security” in tenders is:

=8 # ‘oz el da @ 32927 &
[Question ID = 847][Question Description = Q24_AEN_PC_NAIRAUG4]
For due performance of contract during execution /
fasuree & eI diccae 6 3RT wWwiEy & fow
[Option ID = 3385]
To keep tender offer open till such date as specified in tender /

2.
X # Afce alim a& &Y AT gar 1@ & fow
[Option ID = 3386]
For fulfilment of maintenance requirements /

-wmaaﬁ'ramﬁq;ﬁaﬂ?r$ﬁv

[Option ID = 3387]



) To execute work with good quality /

S B FTH! UTEAr & Y favuried ae & forw
[Option ID = 3388]
Correct Answer :-

To keep tender offer open till such date as specified in tender /

¢ # fafge I J& &3 A ol TW@el & forw

[Option ID = 3386]

23) Maximum “Liquidated Damage” for extension of time, for delay due to contractor,
is limited to of contract value.

She o hRUT &I & foIT T3H trEde &a W, Hdhad ‘fodizes 3aa
& T, FgEY qEF A e

[Question ID = 848][Question Description = Q25_AEN_PC_NAIRAUG4]
10 %

[Option ID = 3389]
2. 5 G}’E}

[Option ID = 3390]
3%

[Option ID = 3391]
" T%

[Option ID = 3392]
Correct Answer :-
* 5%

[Option ID = 3390]

26) As far as SSOR items are concerned, the limit of 25% for normal variation would
apply to:

Sl 9% TH.UH.3.HR. HSCA! @7 Y § TTYURUT IRULE & 25%
T &Y B |

[Question ID = 849][Question Description = Q26_AEN_PC_NAIRAUG4]

1 Individual items of SSOR /
TO.UH.ALAN. & T T T HSCH

[Option ID = 3393]
) Value of SSOR schedule as a whole /

AT ®O U TH.UH.ALAN. Al & Hod

[Option ID = 3394]




Total value of important SSOR items /

’ FAEcAYUl TH.UH.ALHN. SCAT T Hol Hod

[Option ID = 3395]
Total value of SSOR items for foundation /

4.
[Option ID = 3396]
Correct Answer :-

. Value of SSOR schedule as a whole /
AT ¥4 H TH.UE.ALHAN. A & Hod

[Option ID = 3394]

27 PL number used for codification of “Stock Items” is a code.
_ oEEarE
[Question ID = 850][Question Description = Q27_AEN_PC_NAIRAUG4]
" 6digit/ 6 BaeE
[Option ID = 3397]
2 7 digit/ 7 Brae
[Option ID = 3398]
- 8 digit/ 8 e

[Option ID = 3399]

“ 9digit/ 9 Bfae

[Option ID = 3400]
Correct Answer :-
* 8digit/ 8 Bfee

[Option ID = 3399]

‘Dead Surplus Stores” are stores items which have not been issued for the past
and not likely to be utilised in any Railway within the next

‘3T TICOIE TR @ TR 3Eed & foee fod T S Jer foeam
ar g 3 e & ooy fRdr oft e & suaher TR se fr wemaer
el ¢ |

[Question ID = 851][Question Description = Q28_AEN_PC_NAIRAUG4]

. 6 months, 1 year/ 6 Hglel, 1 a9

[Option ID = 3401]



2 12 months, 1 year / 12 #gal, 1 a9
[Option ID = 3402]

3 18 months, 2 years / 18 HgAl, 2 dur
[Option ID = 3403]

4 24 months, 2 years / 24 #EIAT, 2 Iuf
[Option ID = 3404]

Correct Answer :-

* 24 months, 2 years / 24 HEAT, 2 aur

[Option ID = 3404]

29 For incurring expenditure on which of the following work, financial
justification needs to be given :

Taeeg # ¥ 5 719 W @9¥ &g & o by iRy car smaas
T -

[Question ID = 852][Question Description = Q29_AEN_PC_NAIRAUG4]

" Works on consideration of safety / & @ e & (@ ol 7 Sy
[Option ID = 3405]

2. Works of New Lines / @3 =sat & &

[Option ID = 3406]

3 Customer Amenity Works / amgen giasm &
[Option ID = 3407]

“ Labour Welfare Works / #f3e &edmor &
[Option ID = 3408]

Correct Answer :-

* Works of New Lines 7 @2 sal & &

[Option ID = 3406]

30) The cost of replacements and renewals of exiting assets is charged to

HISEl HUREAT & gcelel 3T SAdlcilehtor i e ® Tl T AT
|

[Question ID = 853][Question Description = Q30_AEN_PC_NAIRAUG4]
. Capital Fund / &ftes ®vs

[Option ID = 3409]
2. Development Fund / Saelg#e Hvs

[Option ID = 3410]

3. Revenue Fund / TTA&T %o



[Option ID = 3411]

4 Depreciation Reserve Fund / & R=a wos
[Option ID = 3412]

Correct Answer :-

* Depreciation Reserve Fund / stif&wea = wos

[Option ID = 3412]

of any Audit Inspection Report pertains to minor routine matters, not
considered as important matter.

o8 Fecayol arwHen @& #em r §

[Question ID = 854][Question Description = Q31_AEN_PC_NAIRAUG4]

" Part—IIl/ #TT - 1Nl
[Option ID = 3413]

> Part—IV/ #ET - IV
[Option ID = 3414]

> Part—11/ #ET - i
[Option ID = 3415]

* Part—1/ &1 — |
[Option ID = 3416]

Correct Answer :-

* Part—11/ &A1 - I

[Option ID = 3415]

*%) The report of Comptroller and Auditor General of India, presented to the

Parliament, is taken up for consideration by the

e H UEdd ¥R & A9Ee va AeeE glde ff Rue ™
ST foam forar amar & |

[Question ID = 855][Question Description = Q32_AEN_PC_NAIRAUG4]
1. Public Accounts Committee / T or@l TiATd

[Option ID = 3417]
2. Estimates Committee | Siahvel Sad

[Option ID = 3418] .
3. Public Undertakings Committee / STd=il=ies 3958 afafg

[Option ID = 3419]
4. Committee on Finance / Taa af@fg

[Option ID = 3420]

Correct Answer :-

®  Public Accounts Committee / #T& or@r TfaTd



[Option ID = 3417]

33) Earnings from “Goods Traffic” is classified under

" A" § gl aroell hATs & 3gera aeffpa & A
[Question ID = 856][Question Description = Q33_AEN_PC_NAIRAUG4]

' Abstract — G / 3feqcae — ST

[Option ID = 3421]

2. Abstract — X / 3eH¢ae — T

[Option ID = 3422]

3 Abstract — Y / He@ede — @IS

[Option ID = 3423]

“ Abstract-Z / 3eHcHE — I3

[Option ID = 3424]

Correct Answer :-

* Abstract—Y / ¥edcae — a5

[Option ID = 3423]

3 Full form of AIMS, used in Indian Railway is:

AT Yo # e # e o1 © vy, o gl w9 e 1

[Question ID = 857][Question Description = Q34_AEN_PC_NAIRAUGA4]
All India Management System /

o 3 AT e w

[Option ID = 3425]

Accounting Information Management System /
2

-uméﬁﬂsamamﬂﬂaﬁtﬁm

[Option ID = 3426]
; Accounting Information Monitoring System /

UGT51edT SABALT AfAedT HEeH
[Option ID = 3427]

All India Monitoring System /
el ST e s

[Option ID = 3428]

1.

4

Correct Answer :-

Accounting Information Management System /

THhI51eT AR HaTdie WA



[Option ID = 3426]

39 General Financial Rules (GFR) are framed by

THEET T Baw (Ghuw.sw.) TN 94T 7T |

[Question ID = 858][Question Description = Q35_AEN_PC_NAIRAUG4]

- Comptroller and Auditor General of India/ 3Ra & Tg9s 3k FgeEUiiss
[Option ID = 3429]

2. NITI Aayog / e 3T

[Option ID = 3430]

3 Ministry of Commerce / a1ioTsd #ATo1d
[Option ID = 3431]

4 Ministry of Finance / a9 #areig
[Option ID = 3432]

Correct Answer :-

* Ministry of Finance / faa e

[Option ID = 3432]





